APPE€> LD

S T UDY L ENTRE

TNPSC GROUP | - TEST BATCH 2022
TEST XXII - PREMODEL II

UNIT I GENERAL SCIEENCE, UNIT Il CURRENT AFFAIRS, UNIT Ill GEOGRAPHY OF INDIA,

UNIT

1.

1| Page

V INDIAN POLITY, UNIT VI INDLAN ECONOMY AND APTITUDE AND MENTAL ABILITY
Which of the following cell organelles are absent in Bacteria?

a. Mitochondria b. Golgi body c. Endoplasmic reticulum

d. All of these e. Answer not known

Lelteuhd QF6L [HICTTEIMILILISEH6T 6Teme Limdleflwimalled smentliLiBelglevenso?

a. enwol GLmamentifwim b. Gamevens o L evld C. olemTGLMLN6eNTE  6Uem6VLT65T6T60

d. 8mal SWRIGHHID e. alewL OxMwaleensv

The term Social Forestry was first used in

a. 1970 b. 1973 c. 1975 d. 1976 e. Answer not known
Fepsd aueraluled 61 OFTed (LPHEI(LPHEI0 DILIGE UHS Sewi[H
a. 1970 b. 1973 c. 1975 d. 1976 e. alewL Ozfwalsvenew
In the stomatal transpiration of the water transpired from leaves
a. 70-75% b. 75-80% c. 80-85%
d. 90-95% e. Answer not known
Bmeodgienet Brmaill GuTe@ apeold gme@epw BT @iy gBuGSBS!
a. 70-75% b. 75-80% c. 80-85%
d. 90-95% e. alowL GaMuwelsvemsv
Match the following
A. Nitrogen fixation 1. Azotobacter
B. Ammonification 2. Putrefying bacteria
C. Nitrification 3. Nitrosomonas
D. Denitrification 4. Pseudomonas bacteria
A B C D
a. 1 2 3 4
b. 2 1 3 4
C. 1 2 4 3
d. 2 1 4 3 e. Answer not known
QumTpSHHIH
A. mpLymer HeneuHnBIsHsisHe0 1. &5 GLrBusLT
B. oubGuomreflwmeurged 2. Slpameudb@G Lrsleflum
C. bl Gy Lmmhed 3. bl JBFT@omeTTerd
D. ewplymer QeusflGuimmid 4. &BLGwrenmmerd LTleflum
A B C D
a. 1 2 3 4
b. 2 1 3 4
C. 1 2 4 3
d. 2 1 4 3 e. alowL GaMuwielsdemev
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Match the following
A. Xylem tissue

B. Phloem tissue

C. Epidermis

D. Root hairs

A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 2 3 4 1
d. 1 2 4 3
e. Answer not known
Leteu(heueateulenmLl  OILIM(HoHaHIs
A. dgeoold FHa
B. yGemmuwib FHa
C. ea10LMAerd (UB&HBHT6v)
D. Gauirggmaiser

A B C D
a 1 2 3 4
b. 2 1 4 3
C. 2 3 4 1
d. 1 2 4 3
e. alewL Oaflwealsvenso
Match the following:
List I
A. Interphase
B. Karyokinesis
C. Prophase
D. Cytokinesis

A B C D
a. 2 1 4 3
b. 4 1 2 3
C. 4 2 1 3
d. 3 1 2 4
e. Answer not known
QUTHHHIH:

uga 1
A. @ pHenev
B. GafGwnenseidlerd
C. yGymr Plemev
D. engl BLrenasedlerd

A B C D
a 2 1 4 3
b. 4 1 2 3
C. 4 2 1 3
d. 3 1 2 4
e. alenL Oz flwalsvenso

1. Absorption of water and Minerals
2. Transport of water and minerals
3. Transport of food

4. Protects the inner tissue

. BT BBID Helomisemer o nehdidHe0
. BT BBID HeNOBRISM6T &L SHHIH60
2 el OUT(HLHMENS SHL SHSHIH60
o 'LBgh HaHSHMmENL LTHIHTHIH60

BN

List II

1. Division of nucleus

2. Nucleolus disappear
3. Resting phase

4. Division of Cytoplasm

ugg I

1. & L& UGLIL

2. o I &(Hoewi DB MBS
3. @uiey Hlenev

4. engl GLrlenms LG
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10.

Give an example for haemostatics

1. Whenever the blood glucose level raises insulin hormone is secreted

2. Whenever the blood glucose level reduces glucagon hormone is secreted

a. 2 only b.1and 2 c.1only

d. None of these e. Answer not known

saaime sT1hHbE (homeostasis) BSHSHTG SHHS.

1. @rsssder siessmular oene SEslsgn  Curg  Saseda  anmTGmer

QeuIwL@D

2. OUHpHIe0  Fidsemgulet  Sleey  GompWbBurg  GenGsramear  ammiT@Lome
QeuIwL@D

a.2 W B b.1 w@ppid 2 c.1 w @G

d. @mear ggiIa|Hle0emev e. alewL GaMuwealsvemev

Which of the following is present in human stomach?

a. HCl b. Pepsin c. Renin
d. All of these e. Answer not known
LetTeu(heuaTeuBmie 61%hl oesH SenglienLiuleniell STenrliLGa B ?

a. HCL b. GQuuidles C. Oyevfesr
d. @mer SimaTHHID e. alewL OxpMwaledenso

Consider the following Endocrine glands:

1. Islets of Langerhans - Produce Insulin

2. Thyroid gland - Produce diabetes

3. Adrenal gland - Produce Goitre

Which of the following is correctly matched?

a.1only b. 1 and 2 only c.2and 3 only
d.1,2and 3 e. Answer not known

SOBTHSHSLILL (BeiTen Bremdleveon SFTLlseafed 61gh Fflwms QUTHHHILD:

1. GoomisiTdmesr SHI(BaHeit - Beitgelenal GBT[HEHEGLD

2. ew@HyTuI®h &L - Fidsmy alurdHenwl OBTHHEGLD

3. oIl Memed &I - (DS BPSHFH Hevenlpenl CBTHHGLD

a. 1 w@w b. 1 @b 2 o GHib C.2 wBmib 3w’ Bib

d. 1, 2 opmd 3 e ol Oxflwalsdensv

Match the following:

A. Corpus luteum 1. Testosterone

B. Graafian follicle 2. Inhibidin

C. Sertoli cells 3. Theca interna

D. Leydig's cells . Corpus albicans
A B C

a. 2 1 3

b. 4 3 2

C. 3

d 1

W

1 2

3 4
e. Answer not known
QUTHSHHIS.
A. &iTued eI IQuuLb
B. &g .wesr . .umeddaei
C. Q5 BLT6) QFe0sH6IT
D. 6Sgs QaFeomei

N = =g

. OLerd@Lmervle@rymest
. Beralige

. HEHBT E)6OTL TeulT
ST  DI60LNSH60T6r0

A W=
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11.

12.

13.

14.

15.

A B C D
a 2 1 3 4
b. 4 3 2 1
C. 1 2 3 4
d. 3 4 1 2
e. alemL Gz flwailsvenso

The hormones secreted by neurohypophysis are
a. Vasopressin and Oxytocin

b. FSH and TSH

c. Neurohormones and Teratohormones

d. ACTH and CCTH

e. Answer not known

puwCrmenantiBGur ewudlgmed arsaslILGL anmTéLoTesTSel
a. aur@amigdlest oBmID SpdberiLmdles

b.e11.67610.61&. OBBID 19.6T610.6TF.

c. HwGrramniCumer wBmId Lyl GLrammiTGLomes

d. g.d.g.e&.  wppin &.d.19.615.

e. alewL Gz flwealsbenso

A codon is a sequence of 3 nucleotides on

a. t-RNA b. m-RNA c. r-RNA

d. hn- RNA e. Answer not known

GarLmelr el 61Hei OFHTLMeT cpeiiml HluldbefGuTenL HHeT SELD?
a.19. ST.61601.6] b. 61ib. &y 6160165 C.SUT.ST.6T651.6]

d. a5 .eren.oyt.eteirg €. alewl Ofuialsdensv

The principal function of centromere is

a. Chromosome splitting b. Formation of spindle fibres

c. DNA duplication d. Movement of chromosomes to poles
e. Answer not known

e Grmilwfer (pHeTenioll LiewiuITergi

a. &CymGonG@ambd LlemeymIFHev

b. 58185160 enIDH6T 2 (HeUTHBID

C. 19.61601.6]. ST IQUILITSH6D

d. GymBInBaTbBEMeT HIHAIBIBEHDHE HHTHHIHE0

e. alemL O fluwailsenso

The Process of transfer of genetic information from DNA to RNA is

a. Translocation b. Transversion c. Transcription
d. Translation e. Answer not known

wyier Hapeucodsmen DNA aledmbas RNA alBg wrbpid QFuwed.

a. LymeiteroGeorGsagest b. L ymeieroGeuTagest C. UQOW{HHFH60
d. GumHeuwTsHsHe0 e. alenL Gafwealsvenso

Bolometer is used to measure

a. Coefficient of thermal conductivity  b. Electric Resistance
c. Specific heat capacity d. heat radiation

e. Answer not known
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16.

17.

18.

19.

20.

21.
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GumBesur 1B Lewyll LWRTUBSHS THemedT Dl 60mLD?
a. QaulIus &LS5HIH HBET (& 6wIHID b. WeimenL
. Qe B Smeit d. Qeuin sHTeisFas
e. alenL Oz flwalsomnso

Which of the following pairs does not represent quantities of identical dimensions?
a. Angular momentum and plank’s constant

b. Moment of inertia and moment of force

c. Work and Torque

d. Impulse and momentum

e. Answer not known

&0 Car@sslLlBeTarauBpled @Hsh Ufome eumILUTL LS CSTaEIgITsH Eenewt 6157
a. Camewt o Had wBBID enmhid oTsled

b. Hlewevro HBUySHBesT BHBID ellenFules &(BLILSSB6T

C. Gouemev LOBWID FH(HULY allens

d. sewmsFHTeGalms BEID o [HHLD

e. alewL Oaflwelsenso

Four Resistors of resistance R each are connected in parallel. The effective resistance is

a. 4R b.4/R c.R/4 d. 2R e. Answer not known

R eigemLen o LWl Bren@ WHeaTHel WTHHS6T alteumaipid LHs Senenililled o eiemer.
@eieuenolIlelr CHT@GLUIET LOeTHemL

a. 4R b.4/R c.R/4 d. 2R e. alowL OaMuialsoemev

Sound waves do not show the phenomenon of

a. refraction b. interference c. diffraction

d. Polarisation e. Answer not known

@60 DIMEVHENTEL HTEMILISS BUIOTSH HHLD6)

a. al6v&E6D b. ®n15BHH6e0 c. aflefibLy aleneney
d. sen alenenay e. alowL GaMuwealsvemso

The most stable nucleus is

a2 He4 b " Fe56 o 92U 235
Hglg6
d. 8 e. Answer not known
DIFHB HmeLHHGTMD CBHTEIL DI (h
o ) He4 b 2 Fe56 o 92U 235
Hgl96 .
d. & e. alowL GaMuwealsvemev
The clouds float in air because
a. they are at a low temperature b. they are less viscous
c. they are less dense d. a low pressure is developed there
e. Answer not known
&TBBle0 CamiseT L0HHHVISE SHTT6uTLD
a.GHMMBHH OleulILbHlen60 b. mphs UTGBMeO
C. 5MDhs TS d. @mpbs AWSHD 2 HATGHS6

e. alenL Oz flwalsvemnso

In which of the following minerals, Aluminium is not present?
a. Cryolite b. Duralumin c. Feldspar
d. Fluorspar e. Answer not known
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22.

23.

24.

25.

26.
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etteu(pld SHeollomidbeailed Sisvidlefiid EeveoTHdHl 61517
a. &MGuwimeneol_ b. wuyrevndes C. QUG _eroLITiT
d. yGemmireroLumit e. alenL Gafwealsvenso

Which one of the following is correctly arranged in their increasing order reactivity?

a. Mg > Al>Ca > Na b. Na > Ca > Mg > Al c.Ca>Al>Mg> Na
d.Na>Ca>Al>Mg e. Answer not known

& 2 eteneneunpley, SleuBmles GFwevHmeT SigliLienL ulled gumiauflenguled erg &fl?

a. Mg > Al>Ca> Na b. Na > Ca > Mg > Al c.Ca> Al>Mg > Na

d.Na>Ca>Al>Mg e. afenL Ozflwueailsdenso

According to Modern Atomic Theory which of the following statement is wrong?
a. Atom is the smallest particle that takes part in a reaction

b. Atoms are indivisible

c. Atoms of the same element may not be similar in all their properties

d. Atoms of different elements may be similar in some of their properties

e. Answer not known

pofer oemih CETeTendamwll QUTBIGHSHaem] LlaTeu(hd 61&dmMBM3I SHeummerdl?

a. ol ez Couglalmeruied FEUGBL WaFFBW Hisel

b. omssen ends BUICTHm6

C. & SHANOSHIHBT  DIMTSHSH SIEWIGHEDHD  DIMEIHSIL uewiLseleuld @5 (HHD
Bou6mTigUI S 606M60V.

d. CeuaiBaum sefimiBelear Semibser e UabLE6Med 5 [HEHEID
e. alowL Gaflwealsenso

Non-Volatile covalent nitride, AIN undergoes hydrolysis to give

a. Aluminium b. Aluminium hydride

¢. Ammonia and aluminium hydroxide d. Aluminium and ammonia

e. Answer not known

aefdled opalwnstd Falilemeniliy empbleyLrear AIN BImTBUSIL DidLba CBTHLILS

a. ojeuidlefluib b. giifefiwib a6

c. 9bGuoreflwim BmID Selleiuid masL JTHemen® d. seundleiiund wBmpib eubGumefluwim
e. alewL Oaflwelevenso

Chemical name of aspirin is

a. Ethyl Salicylic acid b. Benzoyl salicylic acid c. Methyl Salicylate
d. Acetyl salicylic acid e. Answer not known

aperoLlflesr wmpHer Ceudlll GQuuwi

a. aHHev g1l Fald Sfevld b. Quesgmuied &FTeldleld Sfe0LD

C. QughFed FTelfGsvL d. ofllemLed smeldeds obeod

e. alenL Oz flwalsvemnso

Choose the correct statements about Indira Parthasarathy

L. He was conferred the sahitya Akademi Fellowship

I1. He is a Padma Vibhushan Awardee

III. ~ He won the Sahitya Akademi Award in 1977 for his novel Kaanthal Naatkal

IV.  He is the only Tamil writer to have received both the Sahitya Akademi Award and
the Sangeet Natak Akademi Award

a.L1II b. III, IV c. LIV

d. All the above e. Answer not known
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27.

28.

29.

30.
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@phAIT urThHamysh uppsw Fflwrer gppismend GHiTey GFUIH

L. BamdG FTHHW ST . .CLsLCeoTagll eupmISILIL (heTerng

II. e usHw alyaget alha OCLBBIGTETTT.

OI. @eu 197791 SLewNge0 HTHBH6T BT G6T 6108 HTOUMISGSTE FTHHUW ST ail([hHenLl
QuBmITT

IV. FTHHW QBT al(hal BDBID FhESEH BILE alhd pHW QIewi®  all(HHISHEm6NTULD
Cump @Gy S eTIRSHBTNT B6ui.

a. [ II b. III, IV c.[ IV

d. @mal maIHSHID e. alewL OsfNwealeenew

Choose the correct statements

L. Gender lab was inaugurated by Chennai Corporation

II. Gender lab is said to be the first such initiative by an urban local body in the country

a. I only b. IT only c. BothIand II

d. None of these e. Answer not known

gflwnen gmBpIsemend CaHiTe GFuls

L. Cgetenet LOTHSITL S LTedler SUINSSHMS HpleuleTeng

I1. Ohs uteden  ouiusd  @hAWTaIGCW @B  BSTIUB 2 _6iTenTd  SEHLOLILITED
CaTLRISLIULL (1PpHed (WWUBSAWTS SHSUILGSBSH

a.l o' @ b. I wl @G c. I wpmo 11

d. gaidevenso e. alewL Gafuwalsdensy

Choose the correct statements about Adichanallur excavation

L. It was excavated for the first time by Dr. Jagor in 1863

I1. Recently two punch marked coins of Sangam age were discovered here

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

FHFFBEOMT SisoTuIe] UBplw sflwmer gppismer GxHie] GFuls

L. 1863840 Suemih Bbd BLD (WPHeO (pedpwnsd Dr. oBsii  6Isieumed  ISTUIe)]
Cewiwtiu’ L g).

II. giUSHD Bl HHed  FRBSTHMSF  BFbhe  @IMIh  (WPHHMIEH  BTHHS6I
&1L SHSILL (HeiTend

a.l w’@Gw b. II w (b c. ] wpp II

d. gaidevensv e. alewL Gafuwealsvemev

Kalaiyarasan Committee was constituted by the Government of Tamilnadu for
a. Framing State Education Policy

b. Reservation to government school students in Medical College Admissions
c. Reviewing the working of educational sector in the state

d. Reviewing the working of Higher educational institutions in the state

e. Answer not known
SODHTH DIJF HENEOWITFT (GH (M6 DIMOSHHSHBETR CHTHHLD

a. IHev Hevalld OFBTeTmndS UMIaIBHTH

b. awasi ueefl TewGITHaMNET DHGSHIO HOMNF BFTbmBHBTE B @HIGSMH

C. WLMHeSHFHe0 Hevalld HIMBUIET CFUIOLITL 196N SLJTUI

d. wmhlevdded o wirseval HEpeUeT GFUIGOLITL 196 SLITUIRIS]

e. alewL G flwailsenso

How many pairs are correctly matched?

L Chennai - International Olive ridley turtle protection and Rahabilitation Centre
I1. 18 December - Minority Rights Day observed in Tamil Nadu

III. 22 March - Local governance day observed in Tamilnadu

IV.  Justice Murugesan Committee - State Education Policy
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31.

32.

33.

34.

a. One pair b. Two pairs c. three pairs

d. Four pairs e. Answer not known
SpdBemiLeuBplen Ffwms CUTBHHW EeneRTHeNT 615HFHN6l?
L. Craremert — FTauChHF Ledel M6l e LITHISTIL OBHBID OBICUTDE] GHLOWILD.

II. 18 pabuT - SWOPHETEH Fpiuraemwuleam o fleow b SiesfsaiiLbalama.
III. 22 1omTE SHODBTL 1960 2 6iTenml & Hemons senl LigdsL LGS s

IV. padugst wpmpBsgea sy — B0 &Hevald OHTeTensd

a. @f Beneuwr b. &m Bemenismei C. PGB B)en6wTes6il

d. preng Senemismer e. alenL Gafwealsvenso

The gram sabha meetings in Tamilnadu would be held

a. Four times in a year b. Five times in a year c. Six times in a year
d. Three times in a year e. Answer not known

SODBHTLIQEL &FTD FenLIdInl L BIGH6IT

a. EIYBE BHIHSG WD oL GLIID b. suenoB@E @b WD HLGLDID

C. QYEWIYBS B POV HOLGLIGID d. oueingBE cwEis WB bHevl GuBID

e. alowL  GgMwalsvensv

Which of the following state was awarded by National Centre for Vector Born Disease
control on recognition of its performance in Malaria elimination and its progress?
a. Tamil Nadu b. Andhra Pradesh c. Telangana

d. Karnataka e. Answer not known

Weteupd  omplevmidberiled  wGeoflwim  eufitided  fpliumenr  GFweddment  OBBILD  (PSICRIBBHMS
omssfls@d GurmlG GCaxdw ugeyd GCrruids &SLGUUTLG bwsHHamen FTamsisp Cubs
LOMBI60D 6117

a. sPHTG b. eubHrlyCxsad C. OHVIBIBTEIT

d. sprLs e. alenL Gafwealsvemsv

Choose the correct statements

L. Tamilnadu Government announced that all government primary school students
from 1st to 3rd standards will be provided nutritious breakfast on all working days.

I1. Tamilnadu become the first state to provide breakfast along with Midday meals

a. I only b. I only c. BothI and II

d. None of these e. Answer not known

gflwmen gmppisenen Cxitey OQFUIs

L. g OamLésl  ueeflsefsd 1 wpaHed 39ud  auGly  eueny UWIID  DiewersHd

LOTETEUTHEHHGSD  DwenhHIll Leell  Gouemev BT Heillevld FHHTem STeWe0F  FBmIewTy
® euiey GURISLILGLD 66l FHOS D& DSlalSHHleTengI.

II. AW 2 _aueSH LSS T FBBIENIY 2 emieMalU]Dd QIPRIGID (P&H6e0 LOMHEVDTES  SHLODBTH
2 _(HUTSH 2 616G

a.l o' @ b. I " @B c. I wpm II
d. gaidevensv e. alewL GaMuwealsvemev

Match the following

Excavation site State

A. Pattanam 1. Kerala

B. Thalakkadu 2. Karnataka

C. Vengi 3. Andhra Pradesh

D. Palur 4. Odisha
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35.

36.

37.

38.

A B C D
a 1 2 3 4
b 2 1 3 4
C 1 3 2 4
d 1 4 3 2

e. Answer not known
LeTau(heuasTeuBenmLl  QILIMT(HoHSHIS

SIBDUTITUIFS]  SHerld LOMHleVLD

A. Ul Lewrb 1. Gmiyerm

B. sevsa1®h 2. SBHTL&ID

C. Oourmid 3. abdy Lg8said

D. umeumit 4. QT
A B C D

a. 1 2 3 4

b. 2 1 3 4

C. 1 3 2 4

d. 1 4 3 2

e. alewL Oz flwealsvenso

The Kalaignar village Integrated Agriculture Development Program was launched in the
district of

a. Krishnagiri b. Dharmapuri c. Erode

d. All the above e. Answer not known

&EMeVEHT SIFTOLILMB e(hhISmenthsh Geuenment G (s HLLD OFHTLmSIUL UGS
a. &madenrai b. simoyf c. mGymQ®

d. GuBaEmpPlul SMeISHHID e. el Gafulalsvemnsv

BANGALORE is represented as 123426789, how RANGE is represented?

a. 82934 b. 82439 c. 82349

d. 82943 e. Answer not known

BANGALORE eaiueng 123426789 etetip  e1pdHevnmed, RANGE ereituig) eteliourm 61 sULiBd?
a. 82934 b. 82439 c. 82349

d. 82943 e. alenL  Gafuwailsvensy

If the circumference of a conical wooden piece is 484 cm then find its volume when its

height is 105 cm
a. 652190 cm?3 b. 625190 cm?3 c. 612190 cm3
d. 602195 cm3 e. Answer not known

434 QF.15 Smpenaleien @ WISdmbller o wgb 105 OF.15 eeafled, LG ST  DieTeneld
BTN,
a. 652190 Q&1 b. 625190 Q&3 Cc. 612190 Q&L

d. 602195 Q&3 e. alenL Gafwealsdemso

A truck requires 108 liters of diesel for covering a distance of 594 km. How much diesel will
be required to cover a distance of 1650 km?
a. 350 litre b. 200 litre c. 300 litre

d. 250 litre e. Answer not known

QRH FIHG euewy 594 & FNIHmHS HLHB 108 61 lFed ChHemeuliLBGHMSH 61660, SieieU6wTy
1650 &6 FMIHmeHd BLH5H CHMAILILBD LFaI6 Di6N6] 6I6lal6Ne]?

a. 350 a9 L b. 200 &S Ljy c. 300 9L Lf

d. 250 e L e. aleowL Gafwalsdenso
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39.

40.

41.

42.

43.

How many ways can you answer five TRUE or FALSE questions?

a. 10 b.5 c.25 d. 32 e. Answer not known

gilwn? sHeupt? Fmmis el 5 CxealseT mobHamer. @phsH 5 CaeralseEnd@GHb OCLTSHIHLOTS
TSHHMe AlFHLOTET LFHe0DH6T SI(PIQUD?

a. 10 b.5 c.25 d. 32 e. alewL OQxfNwelsvenev

The inner curved surface area of a hemispherical dome of a building needs to be painted. If
the circumference of the base is 17.6 m, find the cost of painting it at the rate of Rs. 5 per sq.
m.

a. Rs. 246.40 b. Rs. 244. 60 c. Rs. 24.64

d. Rs. 26.40 e. Answer not known

SImyHGsTen  auger GoBamenyulet o LB euenenuUIULIBEG oeuTewid g Geuemiiguieengl. Sighest
o I'B SFampeTe] 17.6 1§ aeled, @@ FaHIT WBLLHSG h.5 aisb, aufemid LF G Crss
CFevemeud HTENIS.

a. @p. 246.40 b. ep. 244.60 C. op. 24.64

d. em. 26.40 e. alewL  Oafwalsbensv

Which of the following article of the Indian Constitution empowers the Supreme Court to
exercise its special powers in any case pending before it to do “complete justice”?

a. Article 141 b. Article 142 c. Article 143

d. Article 32 e. Answer not known

ObhsHw oFwevemliie 6bhsd algdh 2 FFHISBHHBES (PUOMOWTET BHHenW 6UPHIGSBES
Bouemig BlavleneuuTlevieiter 61 H O (Th QULDSH B ILD SIFH6T Fmriy DIFHBTTHIBEN6IL
UWSTUBGSSHINSDBES DIHSTID  eULPEISI 66N ?

a. FlL&amm 141 b. gL damm 142 C. FlLSImm 143

d. slLsgmmp 32 e. alew Oz flwailsdensv

Choose the correct statements about S2G Buy Day

L. It was launched by TIDCO

I1. It links the startups and the government

a. I only b. II only c. Both I'and II

d. None of these e. Answer not known

S2G Qameipgev HBTem UBBlw sflwner aBpismen CsiTe OFuis

L. 8z TIDCO gmwliierme G TLmsLILL L &)

II. Bg CaTH COFHTL&HH HBICUGTHISMNULD DFFTHISSHMBUD DeNeISGD S L LOTGLD.
a.l w’ @ b. II wi @G c. I wmpp 1T

d. gaidevensv e. alewL Gafualsdenso

Choose the incorrect statements about Chess Olympiad 2022

L. It was held at Mamallapuram

I1. This is Chennai’s third big international Chess event

II.  Itis 44t Chess Olympiad

a. Il only b. I only c. IIT only
d. None of these e. Answer not known

QFed gedbliwm’ 2022 uBBlw HeupTer FapBpllenerd GCHiTd

L. @IGUM 1Y LOTOLEILTHBHE0 HeML QLBBSHI

II. Bz OFaremeruier cpsmroug Guilw FTauBha GFed GUTLIQUITEGLD.
I1I. Bal 44euzl OFed gedbllwm’ Gumipuir@Lb.

a.l o’ @ b. I " @Gwb c. III wi @Gw
d. gaidevensv e. alewL OHfNwaleenew
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44.

45.

46.

47.

48.

49.

11 | Page

Choose the correct statements about HomoSEP

L. It is a robot developed by Anna University

II. It is supported by the NGO, Safai Karamchari Andolan dedicated to the elimination
of manual scavenging in India

a. I only b. I only c. Both I'and II

d. None of these e. Answer not known

GammGuomOF uBplw gFilwmer FBpiIsmend CsHTw

L. BFH DI LIGDHMeVHBIDSHHHT60 @ (Heurdhsliul L GrmBumeum@Lb.

II. g .urwl sygnf DbGHTeveT 6B  aNGHaITed HIeyHeT HEBBUILGINS QIILISBHTS
SITIUENSSILUL L SHeTerTel COHTem(h HBIUATHSTEO DHT6] 6UPHIGILIGH MBS

a.l w’@Gw b. II w’ (G c. ] wppw II

d. @mer gaidlebenso e. alenL Gafwealsvenso

Tamilnadu Chief Minister launched a Ennum Ezhuthum Scheme in

a. Kanniyakumari b. Kancheepuram c. Tiruvallur

d. Chennai e. Answer not known

SODHTH (LPHEVMOFFT 6TeWIaID 6T(RSHHID HLLSHMmSHSH OHTLHIS meudHdh &L Lb
a. sarenwm@Lor b. &mrehdLyib C. H(maueiTearT
d. Qzeiene e. alewL OxpMwaleteneo

Choose the correct statements about Ennum Ezhuthum Mission

L. It aims to bridge the learning gap

II. It will be implemented in government and government aided schools
II. It covers students from class 1 to 3

a. [ II b. I, I c. I, III

d. All of these e. Answer not known

oTewIgID 61(PSHSID FHILD LBl Fllwmer aBpisenensd CoHTe) Gauls

L. BHH LI sBBed Bl Geuaiomuid GMBLLMS CHTHHITHS BTN &)

II. @HFHLD SPs BB SPs 2 gal Cupib uesrealseaisd GEweOLIGSHSLILIBLD.
. @3N L 1 1psHed 3 S UGLIL GUEDTUIETEN LDTERIAITEHEMENT 2 66Tl SHalUIg]
a. [ II b. I, II c. II, I

d. Bmar SimeaTHaIDd e. alenL  Gafuweaisvensy

The 11th World Tamil Research Conference will be held in

a. Kuala Lumpur b. Sharjah c. Mauritius
d. Singapore e. Answer not known

1Toug o euasSHFHOTITUIFS WIHTH BHoL GuUBeyeTen &L LD

a. GasmevmeuIbLLT b. agmitegr c. GQuriagduierd
d. dmsligT e. alewL OFfwalsdensv

Which of the following novel was written by Chinnappa Bharathi?

a. Dhaagam b. Surangam c. Palai Nila Roja

d. All the above e. Answer not known

Lelteubld Ligevmiseriled 61(DSHSHTNT FleterliLl LTFSUWITe0 IS L FHI 61517

a. Hsb b. agmisd C. umenev Bleor Gymegm
d. @mal HmaTIHSHID e. alewL GaMuwealsdemev

How many pairs are correctly matched?

L. Chinnappa Bharathi - Writer of the Novel Thalaimurai Mattram
I1. Liquor bottle buyback scheme - Nilgiris
III.  Bharat Gaurav Express train - Chennai to Mumbai
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50.

51.

52.

53.

a. One pair b. Two pairs c. Three pairs

d. None of these e. Answer not known
SLpdbeHeniLeuBmieT FMwTesl QUTBHSHIW Eenewisell 61556m6nn !
L. i umgg — HMeUeNB TBBLD 6Tl Lgedhaler opdfwir

II. LDBHIHGHBHMeUBM6TSH H(HLOL UTRIGD FH LD - Heoalfl

I1I. unys Osenyel allengey Juled - GFTEMT (LHHeL (LPLDMLI UGN

a. @f Beneuwr b. &m Bmewnismei C. CLPGHIEI BN 6uTISHe
d. gaidevensv e. alowL GaMuwealsvemev

Who is the first to utilize the services of the High Court’s first woman mace bearer?

a. RN. Manjula b. Priya Rajan c. Nagammal

d. Dahil Ramani e. Answer not known

o WTHSHamsHHear (pHev Guemt HOUSTT BGFameuenwt (LpHelsd LWTLBHSHSHIWeUT WmT?
a. R.IN. wehaenm b. Wflwr yregesr C. [BTSHLDLOT6IT

d. sanfed Foew e. alewL OxpMwaledenso

Choose the correct statements

L. Tamilnadu emerged as the largest state in terms of the outstanding portfolio of
microfinance loans

II. Thozhilanangu is an initiative of TANSIM

a. I only b. IT only c. BothTand II

d. None of these e. Answer not known

gilwnen gmBpIsemend CaHiTe OGFuls

L. fppls sLasefen WaHTear gGempatT WwHeol Gl Lflalled Ouflw omBeoons  SODBTH

2_(BH0leuBSHHIeTENSI
II. Czmblevenmig eaiugd TANSIM oemwoliumed GHTLmsIU L &L TGLD.
a.l w’@Gw b. II o’ @b c. ] wppw II
d. gaidevensv e. alowL Gafuwealsvemev

Consider the following statements about Nalaya Thiran Scheme

L. It was launched under Naan Mudhalvan Programme

I1. Under this programme 5000 college students will train with the knowledge in
computer science, electronics and IT domains

a. I only correct b. IT only correct c. Both are correct
d. Both are incorrect e. Answer not known

BTM6TL FHperT S LD UBBW FBBIGmen SLITUIS

L. BHHULID BT (PHeOAIET 6IIB Hi L GHHeT S OHTLBISILL L Sl

II. BHFLHFHer &p 5000 Heoeumfl oTewauTHeT Hewllal Sfialuied, Weaearamialuied LDBBID
HBeUeL CBHTPeOmHIL LGS Hlempdeied SpfleystT uuiBdlulenes GUB o eitemeoT

a.l wi@Gn &M b.II w @G &M C. ®yewio g

d. @yemwiho FHeuwl e. alenL Gafwealsdemnso

How many pairs are correctly matched?

L. Chevaliar Award 2022 - Kannan Sundaram

I1. President’s colors Award 2022 - Tamil Nadu Police

III. 5t Elephant reserve - Dharmapuri

a. One pair b. Two pairs c. Three pairs

d. None of these e. Answer not known

SLpdHHemILeuBmien FRwTsl QUTHHHW EenewIH6T 615 3H6em60n?

L. CFoumedwiT el 2022 — HewTenTel HHBHTLD

II. Gwras Hemeveufler euewientd al(hgk 2022 — SOWDHTH HTeUed HienDB
I1I. S56UgI WTEmSIH6T STILSID - ST
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54.

55.

56.

57.

58.

a. @f Beneuwr b. &m Bmewnismei C. CLPGIEI BN 6uIHeT
d. gaifevensv e. alewL Gafualsdenso

Tamilnadu centre of Excellence in Advanced Manufacturing (TANCAM) was inaugurated
at

a. Coimbatore b. Kancheepuram c. Chennai

d. Thiruvallur e. Answer not known

sOPGTE GuwulL o BusHd ewwd (TANCAM) Qsmmsiu’ L S b
a. GamubLgaT b. &mehdLyib C. QFaenen
d. Hmeusiteermt e. alenL Gafwealsvenso

Which of the following states ranked first in the implementation of Business Reforms
Action Plan 2020?

a. Tamilnadu b. Andhra Pradesh c. Gujarat

d. Maharashtra e. Answer not known

eteupd  omplevmigerfled 2020840 Spewlged euelsE FTHHHHF CFWeL HL DID6VTEHSHHH 60
SlgliuemLuied (1PpFHev BL IDLNgSHSH HeVD 61gI7

a. HUPHIG b. aupdniyCseb C. BRI

d. wasnyradgrd e. alewL Gafwalsdenso

Agnikul cosmos has inaugurated India’s first ever factory to manufacture 3D - Printed
rocket engines in
a. Chennai b. Mahendragiri c. Kulasekarapattinam

d. Oragadam e. Answer not known

OGN0  HTeOCWTey  6leiB  Himleuenorengl, plfliomenr  (wpevpuled SIFFLOULL g6 sHev
BuihFrmisemen © BLSHFH CFUISBHTH (LPHeL OHTHBFTMMUIGS SHleunmidujeTer @)L LD

a. GFeirenen b. w@shH M C. &6VBFBIIILIL 196D

d. grsLb e. alemL O flwaisveney

Which of the following has been ranked the best higher education institution in the country
in the overall category?

a. Anna University b. IIT Madras c. IIT Mumbai

d. IIT Kanpur e. Answer not known

Weteumeusioupmlien el BOwreHH Lflaled mHrlger dphsh o wirseoal Hneuaionsd sreuflenal
UBSSLILL BHeTengl 61517

a. SIEWINIT LIGOHEM6VEHHPEHLD b. IIT Gt gmerd c. [IT @pbemus

d. T smesny, e. alenL Gafwealsvemnso

Choose the correct statements

L. Tamilnadu tops the list of states so far as utilization of funds under the Smart City
Mission

II. The Central Government launched the smart cities mission on 25 December 2015

a. I only b. I only c. Both I'and II

d. None of these e. Answer not known

gflwmer gmBpIseend CHiTe] CFUls

L. Cumeieyml BHEIMSET FHLSHET S eupmsHULL BHIFulear LweaLTGseier SiglienL uiled
SrauflenaILBGSHSHUILL L oTHlevmGaier UL guledled SODHTH (WHeUILLD OLBBIETeTG.

II. GuTelleyml BHIBIHET H LD WHHW Sdlermed 9aFbuT 25, 2015 60 GHTL RIS L )

a.l o’ @ b. I " @Gwb c. I wpmio II

d. gaidevensv e. alewL GaMuwialedemev
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59.

60.

61.

62.

63.

64.

The project Suria was related to

a. Semiconductor Park b. MSME c. Solar Energy Production
d. Water management e. Answer not known

Giwm FLLD aHIL 6T CHTLTLEMLUIZH?

a. GOBaLHH o BusdH ymst b, MSME c. Gfw eaFssd o BuSHS
d. p7 Gwevremiento e. alenL Gafwealsvemnso

The Urban Animal Rescue Centre Setup in

a. Guindy National Park b. Anna Zoological Park  c. Mukurthi National Park
d. Mudumalai e. Answer not known

BSTILB alevmid L enowild G TL RISl (HeiTem &L Lb

a. dlewng CapFwliymism b. siewtenim aNemIEUIed L BIGBT

C. (P&GHHH BCHFwlimisT d. waioemev

e. alewL G flwealsbenso

The chess Olympiad for 2024 will be held in

a. Russia b. Saudi Arabia c. Hungary
d. London e. Answer not known

2024810 SeNIBEHBTRT Gged eedbLIWT. HevL GLBeyeTen @)L LD

a. yeywm b. Ggend) oGy wmr d. eammGs
d. evemTLeir e. alewL OGxflwailsdensv

Which of the following site has been chosen as the site to construct the Chennai’s second

airport?
a. Paalur b. Parandur d. Tiruporur
d. Padalam e. Answer not known

Weteupld  LGHBeiled OFateneiuier @Fewimough aloTambeneowid &L LewlugsBHsTed  CHiTeumen
UGS e1gl?

a. umeyi b. ugpgmT c. HmUBuenT

d. uLmemb e. alewL Gafuwalsdenso

Choose the correct statements

L. The Grand closing ceremony of the 44th chess Olympiad held at the Jawaharlal
Indoor stadium, Chennai

II. A total of 17 Indians has won medals in the 44th chess Olympiad.

a. I only b. II only c. BothIand II

d. None of these e. Answer not known

gflwren gnppismend GHiTey OFUIs

L. 4461z Fame  eedbllwm’  Gumluier Ugyworewi  Heomey — alpTeureidl  OFeenest

malamiTeured Ghm 2 eTallenemum (( SITmISed HeoL CUBBEI
II. 446ug FEHITMRIS eellbLIwm’. Guriguiled OTHSD 17 BHHWTH6T LSHHHWD OleveTmIeTeTeIT
a.l w’@Gw b. II w (G c. I wmpnd II
d. gaidevensv e. alewL Gafualsienso

Choose the correctly matched pairs

L. Dandeli Elephant Reserve - Karnataka

I1. Singphan elephant Reserve - Nagaland

III.  Lemru Elephant Reserve - Chattisgarh

a.LII b. I, III c. IL I
d. All of these e. Answer not known
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65.

66.

67.

68.

69.

gflwrsl QuImbHHW Denewidamen CaHie OFUIs

L. FSMHCHeT WTenedIH6lT STLILIGSLD - SHiTHTLHLD

II. ML WTeneTdel STUILSLD - HTHT6OMHS

OI.  Qeub(p WTENETHET STIUSD - FHHENOHT

a.L Il b. I, III c. I III

d. CuBemPwu smasaid e el Gsfuaisdemen

Which of the following state has the maximum number of Ramsar wetlands in the country?

a. Uttar Pradesh b. Odisha c. Gujarat

d. Tamilnadu e. Answer not known

Uesteu(mld LomBlevmisefled BT 1pGBW SIFSULF FTDSTT FIH6ORISET DINLOHSIGTET OBV 6137
a. o 53 pGsa b. @uagr C. GQYPTH

d. s0wBT6H e. alenL Gafwealsvenso

How many pairs are correctly matched?

L. Chitrangudi - Ramanathapuram

II. Kanjirankulam - Ramanathapuram

II. ~ Vaduvur - Thiruvarur

IV.  Suchindram Theroor - Kanyakumari

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SpdbaemiLeupmier Ffwmsll QUTHHHW Eenewis6lT 618 3H6emen ?

L FHINmiGly - BUMOBTHLTLD

IL. & 6hFJHIGH6NTLD - @ITOBTSLTLD

I1I. aU[B6,T - BmeumehT

IV. &fpdnn CaemT - S&IOIWTG L

a. @f Beneuwr b. &m Bmenismeir C. CPGHTHI BN eRTIHE
d. pisie Smenisel e. alewL OxfNwaledenew

Tamilnadu Salt Corporation was established in

a. 1970 b. 1971 c. 1972
d. 1974 e. Answer not known

SODHTH 2 U] 2 BUSHHHSID BHiBeulll L el

a. 1970 b. 1971 c. 1972
d. 1974 e. alenL  Gafuweailsvemev

Which is the first state in the country for having the greatest number of post-partum
intrauterine contraceptive device insertions?

a. Andhra Pradesh b. Karnataka c. Tamilnadu

d. Maharashtra e. Answer not known

waslICUBBIBGL Lhddu SHUML HHHSHMOLF FTHEIL LIUIGTUTLI9eN6T DISHSD  LWIeTLGSHH W60
@AphHWTalCeBw (Pp&HeILLD uddHEGID THevD 61317

a. b ATICHaD b. SipT_SIb c. SOWBTH

d. wasnyradgrid e. alewL GafNuwaledenso

Madras city was founded on

a. 20 August 1687 b. 20 August 1639 c. 22 August 1639
d. 22 August 1640 e. Answer not known

QoL gmerd BSID MUl L Hleord

a. 20 smerol 1687 b. 20 eymerdl. 1639 C. 22 symerol 1639
d. 22 sumedll 1640 e. alenL Gafwealsvemnso
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70.  The 1st Madras Day, celebrations began in the year

a. 2002 b. 2003 c. 2004 d. 2005 e. Answer not known

(PH6e0 OO Jmerd FHled OQBTeRTLTL LU L SLewT(H

a. 2002 b. 2003 c. 2004 d. 2005 e. alewL Oz fwalsbensv
71.  How many pairs are correctly matched?

L. FaMe TN - MSME Trade and Investment Promotion Bureau

II. Coimbatore - Tamil Nadu coir Business Development Corporation

II. ~ Veeracholapuram - Kallakurichi

a. One pair b. Two pairs c. Three pairs

d. None of these e. Answer not known

SLpdheeniLeuBmieT FMwmesl QUTHHHIW EenewIs6iT 6155H6m6nn !

L. FaMe TN — @p, fp wppib pGHST ool afsHsHs wBpild eas@aily eumfuib

II. CamuwbLsanT - SWOIPHETE GCgHeTemer BT euenlses GODLITL (H&HeLSLD
I1I. alyGampyd - SeTend@GHHFd

a. @1 Benewt b. &m Bemewnisei C. CLPGHIEI B)6n6ulIH6T
d. gaidevensv e. alewL GxMwaletenso

72.  How many pairs are correctly matched?

L. Bal Sahitya Puraskar - 24 languages

II. Yuva Sahitya Puraskar - 22 languages

III.  Mallikavin Veedu - G. Meenakshi

IV.  Thanithirukkum Aralikalin Mathiyam - Paa. Kalimuthu

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

SIS auBmleT FRwmsll QUTHBHHU EenewTHei 615H3HmenT !

L. uTeL FT&HSHU  LIFerdSBTT - 24 QomPser

II. wjen Fm&SSHW  LFerdsT - 22 Gompsel

I1I. IRVWEE (V20 B[O} - G. e &

IV. salsdmesad aweisefsr wguwb - um. sreflpsha

a. @1 Beneuwt b. &m Smenisei C. CLPGIHI B)6n6uIH6IT
d. piesie; Qementsel e. alewL Gafuealsvemsv

73.  Choose the correct statements about Pudhumaipen Scheme
L. Higher Education Assistance Scheme
I1. Beneficiaries: Girls Students from Class V to Class XII
III. ~ Monthly assistance of Y1000 will be given to the beneficiaries

a.L Il b. I, III c. II, III

d. All of these e. Answer not known

ygiemliouewt HU L GBids Filwmer gmBpisenen BHiTs

L. Gevplenevdseval 2 HalhHa L LD

II. vwemell&e: MbSTD UGLIL (LPH60 LIeiTeNGFewILmd U@L euenFullevment LOTewTe &6l
III. vweefaeEnd@ THHCSTHID 5.1000 2 HalsH0HTensd aUPRISLILIBLD.

a. [ II b. I, III c. II, I

d. @me SimensHHID e. alenL Gafwealsdemnso

74.  Thagaisal Palligal Scheme is based on the
a. Kerala Model School Scheme b. National Model School Scheme
c. Delhi Model School Scheme d. Singapore Model School Scheme
e. Answer not known
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75.

76.

77.

78.

SHMBIFMT6L LI6TeMB6T FHI L HEH6 DIQUILIEHL UIT6LET:

a. Gayen Ml weiterdl LD b. Gxduwr wrHM ueied &L ib
C. OLebel T weitefl b d. dmsiigT wrHfl veited &b
e. alenL Oz flwalsomnso

Choose the correct statements about Nanjarayan Tank
L. This will be the 16t bird sanctuary in Tamil Nadu

II. It was built by King Nanjarayan as a source for irrigation

III.  Itis also known as Sarkar Periyapalayam Reservoir

a. [ II b. II, 111 c. [T only
d. All of these e. Answer not known

BEhFITWET GHeld GBSHH Fllwmer gmmpupisemen CxiTs

L. BF FHODBTL 96T 1661H LBEDOUBET FTERITEOUIDTS SIGNLOUIGGITETS]
II. ®8I BEhFTTUWIE LOETEITeD BHTUUTFISHHBHTE SLULLULL Sl

III. @ gissrm Quilwuremenuid BTEHCHGHHID 6TaIBID SIEMWESILBSBSH
a. [ 1l b. II, III c. Il o (B
d. B@mer SimaTHHID e. alewL OxMwaledenso

If 81 students can do a painting on a wall of length 448 m in 56 days. How many students
can do the painting on a similar type of wall of length 160 m in 27 days?

a. 60 b. 80 c. 120 d. 180 d. Answer not known

81 mewieudHei 448 15 [Henmpelen eh Feufled @F @ealwHmmk 56 HTeTHaTNe0  euewTenTLO(BHeu].
o5 Bumeip 160 15 men(weitem gieufled 27 BT H6rMe0 alwlil 61&HHenenn LoTewTauTHeT GghHemeu?

a. 60 b. 80 c. 120 d. 180 e. alewL Oz fwailsbensv

Find the value of x.

4 |3 2

6 10

9 27 | x

a. 30 b. 20 c.50
d. 54 e. Answer not known

X-6i1 o&LIenL SHT6uT.

4 3 2

6 9 10

9 27 | X

a. 30 b. 20 c. 50
d. 54 e. alenL  GaMuwailsvemev

The area of a trapezium is 828 sg. cm. If the lengths of its parallel sides are 19.6 cm and 16.4
cm, find the distance between them

a.28 cm b. 36 cm c. 46 cm

d. 63 cm e. Answer not known

uglitene] 828 &.6F.15 o I1b, Gmeliuss enaser 19.6 6F.16, 164 QF15 o b GETewi
FllousHIGT 2 _WTHend ST,

a. 28 G&.18 b. 36 G&.165 c. 46 Gg.16

d. 63 Q5.6 e. alenL  GaMuwiaisvemev
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79.

80.

81.

82.

83.

A can finish a job in 20 days and B can complete it in 30 days. They work together and
tinish the job. If Rs. 600 is paid as wages, find the share of each.

a. A=Rs. 360, B= Rs. 240 b. A=Rs. 480, B= Rs. 120

c. A=Rs. 400, B= Rs. 200 d. A=Rs. 240, B= Rs. 360

e. Answer not known

A @m Gaumevenws 20 BT Heied, B 918x Gauemevenws 30 BT SeNeID (IPIQLILIT. E[HeU(HLD
Gaiba Geuemev OFUIFH, SieUGaImeveNW! (PIpSHSHI h. 60083 SHHIH6T GUHEUTWTHL GUBMeT] 6lefled
SlaUTH6T albaT(HaU(HD CUBID CHTns elelalee]?

a. A=em. 360, B= em.. 240 b. A=ep. 480, B= 5.120

c. A=em. 400, B= 5. 200 d. A=em. 240, B= em. 360

e. allewL G flwalsvenso

The diagonal of a rectangle is J41 cm and its area is 20 Sq cm. What is the perimeter of the

rectangle?
a.9cm b.18 cm c.20 cm
d. 41 cm e. Answer not known

QH OF6leusHHen eVl L Lb \/H CF.15 wBBID BT Uty 20 F.05.15 eealed OFeleusdder
SBB6IT6Y 616016017

a. 9 Q. b. 18 G&.8 c. 20 Q&

d. 41 QF.8 e. alewL Gafwailsdensy

How many pairs are correctly matched regarding recently added tribal community
included scheduled tribes list?

Tribal Community State

L. Hatti Himachal Pradesh

I1. Narikkuravan Tamil Nadu

II.  Gond Andhrapradesh

IV.  Betta Kuruba Karnataka

a. One pair b. Two pairs c. Three pairs
d. Four pairs e. Answer not known

ulweder uUpmIGUleTT Ulguwieded FluGHed GCFTHSLILLL LPEIGY Fpdsld GSBPHBHI 615HIHN60
Aememser Fiwms QUIHSSUILL (BeiTernet?

UIDRIGIguilesr  FeLpald LOMEI60VLD

L. amL 19 BonFFeolIyGsad

II. bifl @ mevest SLODBT(H

.  Gasrewip YY) (T (€5:5%: )

IV. QuLLT @mum SITBTLBHLD

a. @f Beneuwr b. &m Bemewnismei C. CLPSIIBI BeM6wTH6lT
d. pisie; Smensel e. alowL GaMuiaisdemev

Which of the following committee related to scheduled tribes?

a. Xaxa committee b. Bhuria committee c. Lokur committee
d. All the above e. Answer not known

Lelteu(heueieuBmIen e1gl ULl lpuwieden LIpmiGQuileT OQmLiTuTer @&ww?

a. eImeT (L b. ufwr @ c. Goord&T W

d. @mal HmaTISHSHID e. alewL GaMuwealsdemev

India’s first Dugong Conservation Reserve has been notified in
a. Tamil Nadu b. Gujarat c. Andhra Pradesh
d. Kerala e. Answer not known
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84.

85.

86.

87.

@hHWTaNeT (PHeL SHL 60U LTHISTHSULLL STLILSLD Dlenlowleyeten @ 1D

a. ODBTH b. &egns . obArLigézaD
d. Gamyenm e. alenL Gafwealsvenso

Choose the correct statements about Thamirabarani river

L. It originates from Pothigai Hills

II. It is the only Perennial River in Tamilnadu

III.  This river flows through Madurai, Tirunelveli and Thoothukudi districts.
a. [ Il b. [, III c. I, I

d. All of these e. Answer not known

STOgUTeni Bl GBS Fhwmer FmBmiseen CHiTs

I @6 LIBIILLD QUTHend LDeEOWITELD

I B8s s0REI RS @6 MBBTIS BTG

III. Obhs Sl WwHImT, HHEMeLGe) WLBBID HTHHISS LTI L HISelled LTUISBSI
a. [ II b. I, III c. II, III

d. @mer SimaTHHID e. alewL OxpMwaledenso

Which of the following zoologic park in Tamilnadu has been ranked best in the country
among large zoos?

a. Arignar Anna Zoological Park b. Trichy Zoo

c. Kurumbapatti Zoological Park d. Amirdhi Zoo

e. Answer not known

Ouiiw o ulflwed yhsTSHeled SODBT 1960 o eiten  Ueieumd  6bd o ulifluied  LmisT
BT GCCW Fhe BL Hmsl GLUBBIeTeng?

a. 9PlepT Sjewtewm 2 ulfuled LymisT b. Hmp&Fd o ulfwed umisT

C. @buuly o ulflued umisT d. oufitg o ulflwed LmisT

e. alewL Oxflwelsvenso

The sudden streaks of light seen on a starry night called as

a. Comet b. Asteroids c. Meteoroids

d. Dwarf planets e. Answer not known

alewiSeiige Beombd BJe| euTeled Hebyer gBUGBL @eldbsBens eyl DmPSHSILGSBSHI?
a. aumed BLFSHHTD b. @nmGsmeise c. eifipLg&aTbd

d. @eitensCammeisper e. alewL GaMuwealsvemsv

Match the planets with their escape velocities.

A. Earth 1.60 km/s
B. Mercury 2.11.2km/s
C. Jupiter 3.25km/s
D. Moon 4.4km/s

A B C D
a 1 3 2 4
b 2 4 1 3
C 4 2 3 1
d 3 1 4 2

e. Answer not known
Gaxmemamen SlauBplesr albuUbG CousdHHi e ULIBSD.

A. ye 1.60 km/s
B. ysei 2.11.2km/s
C. alwimpest 3.25km/s
D. Blevey 4.4km/s
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88.

89.

90.

91.

92.

A B C D
a 1 3 2 4
b. 2 4 1 3
C. 4 2 3 1
d. 3 1 4 2
e. alemL Oz flwailsvenso
Inversion of Temperature occurs during
a. Short nights b. Long summer night and chill night
c. Long winter night and clear sky d. Cloudy sky

e. Answer not known

Geouliub HMeVBTES WTBIUSBEH CHEMeULILIBLD EHLDHIEN6VH6IT
a. &oBhs ey

b. pewiL CasmewL SHTevld BBID GefT SHTHBHI

C. BewiL &6t &mevd MBI OFHerileuTet eumeILD

d. Guoslb cpigul euTeILD

e. alewL Oz flwealsvenso

The winds that blow from a particular direction throughout the year are known as the

a. Planetary winds b. Monsoon winds c. trade winds

d. polar winds e. Answer not known

SWIB  (PpeuFHd @k  GBEUILL  Hogmw  Crrdsl elsld STBBDIGMET  eTeleTHI
SIMLPSH S FIEBTLD.

a. Gameir &THBBIHET b. umeud SIHBLIHET . elwmumyéd  SrBpIE6N

d. sImeuSSTBBIBET e. aleowL Gzfuwalsbenso

The highest annual range of temperature observed in

a. Equatorial region b. Tropical region c. Sub-polar region
d. Polar region e. Answer not known

Speni® Geuli aflwmig oigls steaiuGL LFGsHab

a. ywsHHw Crews LgGahaid b. Qe wewi_ev 1I7BHFID C. 2 L-gIheu Lg6shaid
d. simeu gBxa1D e. alewL Gafuwealsvemsv

Choose incorrect pair based on the geological time scale

a. Cambrian - China

b. Carboniferous - Dominance of Carbon
c. Eocene - Daybreak

d. Holocene - Complete

e. Answer not known
Yalsmen SILLeauemenIlLy SHaUBTenT Eenenienld ST s

a. Gaibuifluiest - e

b. smiGumeNGLIyerd - OIFHB 66 HMTLGT LIQLOLD
c. r@undlen - EEUBHMB

d. emGeurdest - (LPIDEDLDWLIEDL FH6D

e. alemL Oz flwailsvenso

The region where the Amazon and Congo rivers traverse is
a. Equatorial region b. Temperate region c. Polar region
d. Subtropical region e. Answer not known
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93.

94.

95.

SIBwamer 1oBBID HTHRIGHT HBIHET LITUISIEID LD6WIL 60D 6157
a. yalluflenL&G8sm (B LD6WIL_6VLD b. 10&6aulIL 106w 6VLD C. HI(HeU  LDGIITL_ VLD
d. giememt GeuliL LDETL 6VLD e. alenL Gafwealsvenso

Match the following rivers with its famous towns:

Rivers Towns

A. The Ganga 1. Surat

B. The Brahmaputra 2. Agra

C. The Yamuna 3. Guwahati

D. The Tapti 4. Benares
A B C D

a. 2 1 4 3

b. 3 4 1 2

C. 3 4 2 1

d. 4 3 2 1

e. Answer not known
&0 CBTHHBLILL(B6iTen HHBMeT, DIGHT LsD aumuibhsh BBIMSCThH CHTLTHUIGSHSHIS
A BH6IT BB HISHENT

A. smisT 1. &S
B. Uybwoygsaym 2. SLHIT
C. wert 3. GaenamrsHa)
D. sugl 4. UeTTFend
A B C D
a 2 1 4 3
b 3 4 1 2
C 3 4 2 1
d 4 3 2 1

e. alewL G flwailsvenso

Jhelum River Originates in the State of

a. Himachal Pradesh b. Jammu and Kashmir c. Punjab
d. Uttar Pradesh e. Answer not known

oJeuld b 2 BUSHWTGLD LOTHEVLD

a.@wrggev LgGmabd b. ;b wBEBID HTOHST C. U@hamLl
d. o 55718xsa1D e. alewL Gafuwealsvemnsv

Choose the correct statements regarding Taiga Forest

L. These are the largest biome located between 500 and 60° north latitudes.

II. More than 1700 species of trees are found in the forest.

III.  Trees shed their leaves during summer.

a. I only correct b. I and II are correct c. I'and III are correct

d. I, II and III are correct e. Answer not known
CQLwisT &T1hH®6N GBHS Fiwmer FmBpisenen CHiTs.

L. 50° wHed 60° e oI FH CHTBBEHHEG DMOHHIGTET BhHd STHHCem sl Guiflu
o ufflend @euTHL BIBeT QLGLD.

II. BE&THH6MD gpEHGmBUl 1700 aUMSBUWITET LOJEUMBHET  SHTeRILILIBE 6T360T.

I1I. BgrIseT CHTMLHTeVHH60 EDeNeVHM6T 2 FiTdhdHIaT [ enmen.

a.l o @ &f b. I wppp I & c. lopmip b &f

d. L, IT w@wid I &l e. alewL GaMuwialedemev
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96. Consider the following pairs:

L. Tropical Evergreen Rainforest - Ebony
II. Tropical Deciduous Foresst - Pine
III.  Temperate Deciduous Forest - Maple
Which of the pair given above is/are correct?
a. I only b. I and III c. Il and III
d. II only e. Answer not known
SPHTEID BN HMET H(HHHeL CHT6NTH.
L. CEULILLDERTL 60 LISGEWLOLOTMBT  LDEDIDSHTHHET - SH(HHISBT60
II. GeuliLoemt v AeweowFHT &HTHHET - CHeus
1. WSO e Beweow|HiTd SmBHHeT - Goliiel
CuBenBullL Qmeanselsd e1g &FM?
a.l w’@Gw b. 1 wpmpp I c. II wmpnb 111
d. II w’ @ e. alewL Gafuwalsdenso
97.  Match the following:
Desert Country
A. Kalahari 1. India
B. Thar 2. South Africa
C. Arizona 3. Australia
D. Great Victoria 4. USA
A B C D
a. 2 1 4 3
b. 1 2 3 4
C. 4 2 3 1
d. 4 3 2 1
e. Answer not known
LetTeu(heuesteuBens  CUT([HHHIS.
LIT6mEVGUEITLD BT(BHEB6IT
A. sevami 1. @pgHur
B. s 2. Ozer Syilfldbaer
C.oifGamevnm 3. oLervdGredwim
D.&Gy aaGLmilwim 4. 9OwfHsT
A B C D
a 2 1 4 3
b. 1 2 3 4
C. 4 2 3 1
d. 4 3 2 1
e. alenL Oz flwalsvemnso
98.  Which is the largest port in the west coast of India?
a. Kandla Port b. Mumbai Port c. Kochi port
d. Marmagao port e. Answer not known
@bsw CoBe sLBasmyule Wslbufuw sempipsd 61%?
a. SHEWIL60T HIeNB(LPBHLD b. (pibeml FHiemm(LPSBLID C. Oan&d HImBLPSHLD
d. wimnoGsmeur e. alewL GafNuwaledenso
99. The Headquarters of the central water transport corporation is located at

22 | Page

b. New Delhi
e. Answer not known

a. Kolkata c. Noida

d. Gowhati
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100.

101.

102.

103.

104.

105.

wHHW Bireu CUTEHGaTHFH HPBHHH T HEM6LEMIOUIFSLD 2 6o @ 1D
a. OBTEOBHHT b. ugIGL 6068 C. QmmuiLm
d. Qzensnsgg) e. alenL Gafwealsvenso

Which one of the following National Highways connects Delhi and Lucknow?

a.NH7 b. NH 12 c. NH 24

d. NH 40 e. Answer not known

Weteupd Bl GbBEhaTenevseled GLsvedlenuiujd udHEaTTeneulD EenemTliLigl 6157
a.NH7 b. NH 12 c. NH 24

d. NH 40 e. alewL GaMuwaievemev

“Twisters” are otherwise known as

a. Tsunami b. Land slide c. Earth quake
d. Tornado e. Answer not known

“CpaledL a6 Beleumprs SIWLILIGS @B

a. seLh b. Plevgaley (o VICEE: I
d. @mpreuer e. alewL Gapfwealsdenso

Which area is very low damage risk zone while earthquake?

a. Kashmir valley b. Rann of kutch c. North east states
d. The Deccan plateau e. Answer not known

Bevb(heEdsHHa CuTgl Wesdh Gempeureal LTSI gBUBLD LWILSHHe0 EHSHESGD UGS 6157
a. HTROT LIeTeNSHHTHSG b. &' & ugH C. QUL&IPHE LOTHIEVRISEIT
d. sésrem Ly e. alewL Gafuwaledenso

Pink noise is related to

a. Climate change b. Air pollution c. Water pollution
d. Land pollution e. Answer not known

®enehdeull] FHHD 61HCeMB OHTLTLEWL WG

a. SHT6VH N6V LOMBBLD b. smBm wrHUTH C. BT oT&UT®

d. Blev wrHUTH e. alewL Gafuwalsdenso

Who had developed the central place theory?

a. Thomas Robert Malthus b. Vanthunan c. Walter christaller
d. Webar e. Answer not known
mwwl @ SCamum L SIBlIpSLILBHSHS WeuT wimT?
a. HMoeYD @ITUTL  LDT60SH6rD b. eurengmentest C. eumeOLT &lflerdLmeuiT
d. Geuwir e. alenL Gafwealsdemnso
Match the following:
A. Nokrek 1. Uttar Pradesh
B. Namdapha 2. West Bengal
C. Nanda Devi 3. Arunachal Pradesh
D. Sundarbans 4. Megalaya
A B C D
a. 1 2 3 4
b. 4 3 2 1
C. 4 3 1 2
d. 1 3 4 2
e. Answer not known
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106.

107.

108.

109.

110.

QumTHSHHIH

A. BrErsH

B. pogum

C. ppa1Csmal

D. abayeued
A B

1 2
3
3

2 557 LgCshaid
GuoBE eumisLd
Smewitgev LIgGshaLd
GossmeouwdT

a
b. 4
C. 4
d
e.

NN R g w -

Ll SN

. 1 3
alemL Qg fualsoensv

Yokohama strategy and plan of action was associated with

a. Natural resources management b. Natural Disaster management
c. World wars d. World Poverty

e. Answer not known

Gursammor GFwed euemJe] HLU LD BFHIL 6T OHTLTL CBTemL g

a. QuBesalen GLoeUTETENLD b. BuBens GuiLiT Guevremsiento
C. 2 ovdb Gumiaeir d. 2 ovs eumiewD

e. alewL Gz flwealsbenso

0° longitude and 0° latitude is located in

a. Central Australia b. Brazil c. Atlantic South and West of Africa
d. South Pole e. Answer not known

0° FHidbs Crewswd 0° oI F Crenswd SrenilILIBeISI

a. wHIHW SLeLHGredwm b. 1Gydlev

C. Operol eomenigd BMID ComE QIIfdbat

d. OsaT sIHaIBIB6T6D e. alowL GaMuwealsdemev

is the largest naturally occurring source of commercial energy in India.
a. Coal b. Fire-wood c. Cow dung
d. Natural Gas e. Answer not known
AhFHwraled BUIBMHBWTES DIFH Slenalled HenL @G euewllald gmibhd  erMGUTHeIT
UG LD.
a. Hevdaifl b. Op@miys Sl C. UGSHBHI06|BH6IT
d. BuBenas euruy e. alewL GaMuwelsdemev

The great regulator and stabilizer of climatic elements and climatic changes is

a. Mountain b. Ocean c. Rainfall

d. Atmosphere e. Answer not known

HTEVHEMEVENILILLD HTEVHIEM6V LOTBBHMSUD FITHHF FLOBMEULILIBGHSHID SHTJ6mnT
a. LDENGVEGIT b. QupmIsL 6D C. enPLIOUT 6]

d. euefloewievld e. alenL Gafwealsdemnso

Which of the following waterfall is not located in Tamil Nadu?

a. Beman waterfall b. Pykara waterfall c. Thirumoorthy waterfall
d. Palaruvi waterfall e. Answer not known

&C CHTHHBILL (BeTenenalseilsd HODBT 1960 DMHAHITEH BHTaipFds e1g?

a. Uwer pireipsd] b. ewudstyr Birelpsd C. HmeTeHd BHiraipFd)

d. ureomel Breipsd e. alenL Gafwealsvemso
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111.

112.

113.

Bhagalpur thermal power station is located in

a. Jharkhand b. Uttar pradesh c. West Bengal

d. Bihar e. Answer not known

LG0T SISTEVLIGI [HlemeOWID SINLOHEIGTEN  LOMH 6VLD

a. ST&emIL b. 2 58nly8sab c. GumE eumsTenDd
d. e e. alenL Gxfwealsvemnso

Match the following Aluminium plants with their place of location:

A. BALCO 1. Metturdam

B. HINDALCO 2. Korba

C. MALCO 3. Koraput

D. NALCO 4. Renukoot
A B C D

a. 4 2 3 1

b. 2 4 1 3

C. 3 1 4 2

d. 4 1 2 3

e. Answer not known

Uetteu(pld Sjeuidlefiitd QHTPBFTenevHmeT DleuBmlesT EBLILIL SHHIL6IT OILT(HSHSHIH:

A.BALCO 1. Gl BT Siemewt
B. HINDALCO 2. s
C. MALCO 3. GamymyL
D. NALCO 4. Gramicdanl
A B C D
a 4 2 3 1
b. 2 4 1 3
C. 3 1 4 2
d. 4 1 2 3
e. alewL Ogfluailsvenso

Find the correct matching for the given rivers in Column B which drain the plateaus in

Column A

A B

A. Malwa Plateau 1. Damodar

B. Chotanagpur Plateau 2. Tapti

C. Meghalaya Plateau 3. Chambal

D. Maharashtra Plateau 4. Yamuna
A B C D

a. 2 3 4 1

b. 3 1 4 2

C. 4 3 1 2

d. 3 2 4 1

e. Answer not known

Oppeaufleng  B-s0  GaTBHSILLBeTen  [HHEHmeT  SEDaUB6T  LUTUD
CarGaasulBeren LLsenpLer gflums QUTHHSIS.

A B

A. omedeum 1L yL0 1. sn@wrgT
B. GamiLm mrayT fylo 2. U

C. Gusreowm Lfylo 3. &FIbLeD
D. wasmmaggr 1Ly 4. wi(peotT
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114.

115.

116.

117.

118.

A B C D
a 2 3 4 1
b. 3 1 4 2
C. 4 3 1 2
d. 3 2 4 1
e. alemL Gz flwailsvenso
Where do you find Meso - Thermal Climate in India?
a. Eastern Ghats b. Western Ghats c. Gangetic Plain
d. Coromandel coast e. Answer not known
AhFHwraled BemLHeme0 GeULILILDERIL 6D HTeUHEN6D 6THIF HTEILILBSBEHI?
a. Apd@ HTLTFS wemev b. CuBE OHTLTFS M6V C. EIME FLobleue

d. Ggmpweniev sLBHmy €. ol GFHflwalsvensv

Which of the below bounds Nagaland on the east?

a. Assam b. West Bengal c. Myanmar
d. Manipur e. Answer not known

&8 OBTHHSLILIL (BH6TeTeneuH6aied BTHTEIMHHISE HIPHE 61606V 6157

a. oiFmb b. GuBE eumBTeTD C. LOWITeSTLOT
d. wewiiy e. alewL O flwalsveney

Two portions of a dice are given below. When 1 is at the top, which number will be at the
bottom?

e
a.3 b. 4 c.5 d.6 e. Answer not know

Qm usmLular &m Beeuser &G uLTs SHIUUL (heerer. elewt 1 GG BHbGHWLOUTH HCL
o 6ol 6Tewl 61517

a.3 b.4

c.5 d.6 e. alenL  Gafuwalsvensv

In a hollow cylinder, the sum of the external and internal radii is 14 cm and the width is 4
cm. If its height is 20 cm, the volume of the material in it is
a. 56007 cm?3 b. 11207 cm? c. 567 cm?

d. 36007 cm3 e. Answer not know

QI 2 emafLmp o (pewenuler Geuefliys LBBID o L'uB miseiea FmBHeo 14 OF.15 oBmIbd
P BT 4 OF .5 Su@b. o (hewemulet o wigidb 20 QF.15 eefled, DIHME © (HeUTHSDL
UwietLl L. QUTHeMeT H6oT D66

a. 56007 Qg.3 b. 1120 7 QF.3 c.56 7 QF.13

d. 36007 G&.u5 e. alewL  Oafwalsbensv

The length, breadth and height of a chocolate box are in the ratio 5:4:3. If its volume is 7500
cm3, then find its dimensions.

a.30 cm, 24 cm, 18 cm b. 25 cm, 20 cm, 15 cm

c.35cm, 28 cm, 21 cm d.20 cm, 16 cm, 12 cm

e. Answer not know

@@ gmhBeul. QUL guieT Herb, SiHeod WLBBID o Wb (WenpGw 5:4:3 seip aldlsHdHled 2 _eieng.
DIHFT BAT leNa] 7500 OFIS erafled DB LIbD DI6NA|HEM6NH HTCwISH.

a. 30 Gz5, 24 Qs15, 18 cm b. 25 Q&15, 20 G&15, 15 cm

c. 35 G185, 28 Ga15, 21 cm d. 20 G&185, 16 Q&15, 12 cm

e. alemL G flwealedenso

26 | Page PH: 044 - 24339436, 42867555, 9840226187




119.

120.

121.

122.

A group of letters are given. A numerical code has been given to each letter. These letters
have to be unscrambled into a meaningful word. Find out the code for the word so formed
from the 4 answers given.

L I N C P E

1 2 3 4 5 6

a.234156 b.563421 c.613524

d. 421356 e. Answer not know

&0 erpHHIBelar BTG Q6B CBHTHHSUILL (BeTendl. @aIOauTH 6I(SHHIHESGD  HeoldHea G
aew  GBUWIG eupRISLILL (BeTengl. BHOSHTSGLIL 6I(RSHHIBMT  @L DOLWITHSH  LOTHBBIWLIENLOSSHTED
QuT(HEmHETEN  AUTTHMBD  HMLSGWD. DIHeig, UHHTHE  HwIBLIgHS  UTTEHMHHBT6
aTewmGNuiheneds HTemIs.

L I N C P E

1 2 3 4 5 6

a.234156 b.563421 c.613524
d. 421356 e. alewL OgMwalsdensv

The radii of two right circular cylinders are in the ratio 2 : 3. Find the ratio of their volumes
if their heights are in the ratio 5: 3
a.21:27 b. 26 :27 c.20:27

d.10:9 e. Answer not know

@rewih CrJ eu'L o (hewendefe oSuImisefen ealdlsb 2:3. Coebd o wymsefer aldsd 5:3
aIadl60, SjeuBmlenT He Sleneysmelel alBHHMBHDH HT6wIH.

a.21:27 b. 26 : 27 c.20:27

d.10:9 e. alenL O fweaisdensv

Choose the correct statements

L. Inflation benefits the creditors

II. Inflation benefits the fixed income group

III. ~ Purchasing power of currency decreases with increase in inflation
a. I only b. II only c. IIT only

d. I, III e. Answer not known

gflwnen gnBpisenen Caite

L. UeTaihalD HLamelaEhd@ HeTenld LIUISELD

II. LeNTISHELD [HlemELWITET U(HLOTETHTITHEHHE BTN LILS@GHWD

I11. uenieidbs HSHSMILTEIH LaTHH aUThRIGLD FoHHem GMBHEBSHI
a.l o' @ b. I " @B c. III wr @

d. I, I e. alenL Gafwealsdemso

Choose the correct statements about Finance Commission
L. Setup under Article 280
IL. Appointed by the president every five years once

III. It consists of chairman and four members

a. L1l b. 1, 1II c. II, III d. I II, III e. Answer not known
PaHEGWw &5 shwmer gppismen CxHis

L. FULSbImBl 280651 HP HIMDGHBLILL L G

II. WHHTETBHEHEHSH RUH(PMB GQUITH HMELAUTTEL HUIOSSLILGH MBS

I1I. O3 FHWevalT LOBBID BTG 2 BIIIITEMmen 2 6em.&aHuigl

a. L II b. I, III c. IT, IIT d. I, II, III e. alewL  Gafuialsvemsv
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123.

124.

125.

126.

Which of the following is/are recommendations of the 15 Finance Commission?

L. The states and centre should stick to the debt levels recommended by the FRBM Act
II. Broadening the tax base

III.  Streamlining the tax rates

a. [, II b. I, III c. II, III d. All of these e. Answer not known

156ug pFHeGualer Lfbgmysamen Bxis

L. FRBM &L gsme0 UfphaHengssliul L SLST  Deenal  IDTHVRIGEHD  DHHW  HIF&HID

smLLIgHs Calemi(BLD.
IL. afl ouetiueLenw alflauBHHISH60
III. afl aldgnhisamen CBMILILIGSHHIFH
a. L1l b. I, III c. II, III d. Bmal SDISHHID e. alewL Gafwalevenso

How many pairs are correctly matched?

Five Year Plan Objective

L First Plan Focus on Agriculture and Price Control

II. 3rd Plan Achieve Self Sufficiency

III. 4t Plan Growth with stability

IV. 12t Plan Towards faster and more inclusive growth

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

IHHmed Qewenidbe Fiwms CUTHHSHUILL [BHeiTermen?

MHHTEWIH  HLL MIH6IT GprésLd

L. (PHeL FH LD Gouenmewt LOBMILD @leneVEHBL BLILITL 196D &H616wTLD
II. 3eugl LD SHeTellenBey SIENL 60

II.  4eug HlLid BlemeoLITET 6UETITEFS)

IV. 126ug1 LD Gouslomen LOBMID o 6oL SHWI euenTiFFlenw CHreHd)
a. @f Benewr b. &m Bmenismei C. CLPGIEl BN 6T Ha
d. pisie Smenisel e. alowL GaMuwealevemev

Choose the correct statements about NITI Aayog

L. It promotes the spirit of competitive federalism amongst the states

II. It consists of 8 full time members

III. It was established on 1 January 2015

a. I only b. I, Illc. II, III d. All of these e. Answer not known
B abwrds GBisds sliwmar amppieemen Caite

L. @& wipHeoomseEhdE QL Buw Gumlly g&ULT & o awiTenel 26&HEalHH Bl

II. Bz 8 wWwwGhy o pilaTeemer o 6o sbaluig

I1I. @z 1 geeufl, 2015 B0 CaHTBmIAlSSLILILL I

a.l w @ b. I, III c. II, III
d. 8mean SIWRISHHID e. alenL Gafwealsdemnso

Choose the correct statements

L. Fiscal Federalism refers to the financial relations between the country’s central
government and other units of Government

IL. The expert committee of 1931 with Lord Viscount peel as the Chairman examined
the fiscal relations between the centre and provinces

a. I only b. IT only c. BothIand I c. None of these e. Answer not known

gflwmenr gmBpisenen CaiTe

L. B  smlLmidl  eeugh BTl  HHW  SFFTRESIHBGL — SFFTRSSSHer LB

UfleyseEprd@d QLB 2 e HiFH 2 masmensd GHBlGH MBS
II. oot eflerodeyemil Lfe0 Hemeveniouieomenr HlLjewr™ &1 193194D SLewiB WHSHW  LOBHBID
LOTSHTETRISEHDHGH @enLuleomer HEH 2 measenen SUIe]| CFUISHI.
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127.

128.

129.

130.

a.l o' @ b. I " @Gwb c. I wpmo II
d. gsudevenev e. alenL Oz flwalsdensv

How many pairs are correctly matched?

Scheme Year of Launch

L. Digitial India Campaign 2015

II. MUDRA Loan Scheme 2015

[I.  PM Kisan Samman Nidhi 2019

IV.  Ayushman Bharath 2018

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

ashHmen Aemenider Fflwms QUTHSSLILIL BeiTernes?

HILLMISH6IT CaxmBmielsaliul L L6um{H
L. 6T6WILD @HHWT BuibsLd 2015

II. (WSHIT SL&T S LD 2015

II. PM &agner gwrer Hg) 2019

IV. SLULIQILOTET LIMT & 2018

a. @f Beneuwr b. &8m Bmaviser C. CPGITH BN eRTIHE
d. preng Senemiamer e. alenL Gafuwealsvemsv

Which of the following is/are not direct taxes?

I. Corporate Tax  II. Capital Gain Tax ITI. Securities Transaction Tax

IV. Service Tax V. Value Added Tax

a.LIILIV  b.ILIII, IV clLIV,V d.1V,V e. Answer not known

Welteu(meuaieupmien Gply eufldell ©I6L60THEm6 6T606U?

I. Ppieuer eurfl II. epevmperr uamul 6urfl III. usdy ufleuTdmemen el

IV. Gremeu eurfl V. vy a6 e

a.LIIL IV b IL III, IV cIl,IV,V d.IV,V e. alewL G fweaisoamnso

Choose the correct statements

L. The Ministry of MSME has set a target to increase MSME sector contribution to GDP
to 50% by 2025

II. Champion online portal is a grienvance redressal mechanism in MSME

III. MSME Samadhan is the Portal that simplifies the process of registration of any
enterprises under MSME category

a. [, II b. I, III c. II, III d. All of these e. Answer not known

gflwrer gnppisemen CaiTs

L. MSME giempuien umisefliienu 2025940 egemngm@en 50% s GDP uled ofsfdbs
MSME gimingssid Bevdb@ BiTteniulshglenengi

II. gmbiwer  @emeotwt  GunimlLed  eteiugy  MSME  uled o elten  @HedmSHTHGD
OamH60BIL LILDTGLD

I.  MSME gwrgrer  eeiug MSME  Ufleler & ebhs0eunm  Bpeuamseier  LHey
CFweO(penBENWILD 6TaMBHTHGD Eenemiul 6UFHUWITEGLD.
a. [ II b. 1, III c. 11, III d. 8mar SmardhHId €. el OFfluwialsdenew

Which of the following is/are related to MSME sector?

I. RAMP - Central Sector assisted World Bank Scheme

II. ZED Certification Scheme

I11. ASPIRE Scheme

IV. Credit Guarantee Scheme

V. Credit Linked Capital Subsidy Scheme

a. L III,V b. III, IV c. I, IV, V  d. All of these e. Answer not known
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131.

132.

133.

MSME gienp O wenel eleneu?

L. RAMP — wggdw giens 2 salujLammer 2 60& kSIS L LD

II. ZED smamsp SHLib

II.  ASPIRE &b

IV.  sLeam 2 sdlgeurs LD

V. SLT BeneuidbSLILIL L eLpeugent omeiul L LD

a. I,V b. III, IV cILIV,V d. gma omaissid e. alowL GaMuwelsdemsv

Choose the correct statements about Special Economic Zone (SEZ)

L. Duty Free import of goods for developing, operating and maintaining SEZ units.
II. 100% Income tax exemption on export income for SEZ units for first 5 years
II.  SEZ units are exempted from Minimum Alternate Tax

IV.  74% of FDI allowed in Manufacturing sector
V. Supplies to SEZs are Zero rated under the IGST Act
a. [, II b. III, IV c. LIL IV d. All of these e. Answer not known

fply QUIHETTHTT NIV GHBlHEH Fhlwmer SnBpibemer BHiTs
L. SEZ pPpeuemssmer o (haulfd@GHdHe0, Bub@GHHe0,  LUITOMNGHSH0  SLdluleuBBIbaTet

auflulleveumiosd GLITBL SBmeT @BSHEGHL 6lFUIH60
II. (PHO MHSTOTHHEDHE SEZ mPoeuamsendsd gnpiod eamorashded 100%  eaugmome
aufl alleud@
III. SEZ ppiaueihisensd @GophasUl g omspl eufluledmba allevdd iefasliul (Heteng)
IV. o Busd giempuled 74% oppu Chrg WHeSh DIIDHSHILBHBSI.
V. IGST sl Lggenn Sp SEZ sendstar alpCwms aldsd umedwiors S LuGSBg
a. Il b.III, IV c. LI III, V d. Bmeu Smeansaib €. el QFNuwealsoenen

Choose the correct statements

L. Repo rate - Rate at which the RBI willing to lend to commercial banks

I1. Reverse Repo Rate - The Rate at which the RBI is willing to borrow from the
commercial banks

III.  Demonetization - Stripping a currency units of its status as legal tender

a. L1l b. 1, III c. III only d. All of these e. Answer not known

gflwnen gmppisenen CaiTe

L. QruBur aldlsd - euewlas amdBEndEG BbHHw Maial eaumd sLar OBThHHS all(HOLLD
VL)

II. o1 QruGumr eldsd - euenlles eumSBNLOBHH SbHul MaTel oumd SLST aUTHIS
(LD al&HLd

III. uewTHIINPII] — FULLTouomer LenTdhdem oFHILSBmeT [HdEHIH6e0

a. L Il b. I, III c.lllw@d d. ma SEmaSHaHID e. alowL GzMuwelsdemev

How many pairs are correctly matched?

L. Annual Plans - 1966 to 1969

IL. Rolling plan -1978 to 1979

III. ~ Plan Holidays - 1990 to 1992

a. One pair b. Two pairs c. Three pairs
d. None of these e. Answer not known

aHHme Denewidell Filwimgs QUTHSHSLILIL [BHeiTerneo?

L. 6w S LD - 1966 — 1969

II. &lpev L LD - 1978 — 1979

. gic «lpweos - 1990 — 1992

a. QT Bewewt b. &m Gemewismein C. (LPGIWI B enewIH6IT
d. gaidevensv e. alewL OaMuielsdemev
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134.

135.

136.

137.

Choose the correct statements about GST

L. Single point tax without cascading effect

II. It has 3 components

III.  New Zealand was the first country to implement GST in 1954

IV.  The Union Minister of state incharge of Revenue will be member of GST Council

a. [ II b.I 1II, IV c IV d. All of these e. Answer not known
GST ofss gilwner amppismen GHiTd
L. DYHHeN alemenaleveoTd @ (Wwemer euflwim@Lp.

IL. B3l PIIBI FnBIHEN6NT 2 _6IT6eNL UG

II1. BusFeorbal 19549ud ety GST 23 Bl (pedBLLGSHHU (PH60 HTLTGLD.

IV. GST seaadleler o pniemms wHHU aumHauTUl SHews SeWFFT GuTpICuUB® S mHUuTT
a. [ II b.L 11, IV c. IV d. 8mear SmardHHId €. el OFfluwalsdenew

How many pairs are correctly matched regarding the methods of redemption of public
debt

L. Sinking Fund - First introduced in England by Walpol

II. Budgetary Surplus - easiest way of paying off the public debt

III.  Repudiation - Rarely Possible Method

IV.  Capital levy - the most controversial method of debt repayment

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

CUITZISHHL_ M6t L LISBETet (LPEDBEHEIT (OF: 511 (W) : 6183668 ©)em 60T 61T gflwns
QUTBSSLILL (BeiTerment?

L. AWDGD B — WPHeEIHe060 euTedBUTED BBIBlOTHH60 DIMILPBILIB S 6T

IL. age] QFevey HL o ufl — QUISHIGEHL men SewL&B eefdHmer euld

I11. sLel Ep — STl sTHHul (Lpes

IV. weosasdh SHiewel - BF FTFmFsGNL ST HTeval (LPedBULTEGLD

a. @f Beveuwr b. &m Smenimel C. CPTBI Bem6mTeb6lT
d. presie; Qememisel e. alewL Gafuwaisvemsv

Choose the correct statements about Vote on Account Budget

L. It mentioned under Article 116 of the Indian Constitution

II. This budget can be presented in the Middle of the year

III. ~ This type of budget is generally sanctioned for not more than six months

a. [, II b. I, III c. II, III d. All of these d. Answer not known
PHEG aumss®Bly auge] GFevey HLb @GP¥Ss giwrear gmppismen CxHis

L. Bz @b oFweoemol] FULEImB 116860 GUBIULILLUL (HeTengl.

I1. @hs UG amL HHuled FTINNGEILGD
I1I. ObhF eumad LW QUTHITS B THHISEHHEG G0 DI HSLILIHEH LMV
a. [ II b. I, III c. II, III d. @ma1 SimeaTHSEID e. alowL GaMuwelsdemev

Which of the following were included in the capital receipts?

I. Recovery of Loans II. Borrowing and Liabilities III. Disinvestment

a. [ II b. 1, III c. 11, III d. All of these e. Answer not known
Le3Teu(HeUGITEUBMIOT (LP6VHET aUTaled o 6iTemenel 6Teneu?

[. sL6a1®Hmen 6UEGH6055H60 II. sLeisen WwBBID IB QUTBILILSET

L. (waeS e allevdEgHs0

a. [, II b. I, III c. II, III d. @ma imeaiHSEID e. alowL OaMuielsdemev
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138. How many pairs are correctly matched?

L. Revenue Deficit = Total Revenue Expenditure - Total Revenue Receipts

I1. Budget Deficit = Total Expenditure - Total Revenue

III.  Fiscal deficit = Budget deficit + Government’s Market borrowing and liabilities
IV.  Primary deficit = Fiscal deficit + Interest Payment

a. One pair b. Two pairs c. Three pairs

d. Four pairs e. Answer not known

aHHme Denewibell Filwims QUTHSSLILL (BHeiTernen?

L. AUHUTUI UBBTHGmB = OTshs eumeutul QFevalleld - CTHS UHEUTUI 6UT6|SHe6iT

II. age) OFeve H LI UBBTSEGHmB = GCrsHs GFevailend - GTHE aye]

I,  pal uBprsems = are GFedh HLUIUBBTIEGmB + Tl Fhendd HLGTHEHLD
eJemeuTl  QILITMILIL| & @ThLD

IV. (PSHIEMD LBBTEGMB = HHILUBBTEGMB + aully OFashsigHe0

a. QT Bewewt b. &m BDmenismei C. PGB EeM6nTH6iT

d. preng Seneniamer e. alenL Gafwealsvenso

139.  Match the following
Finance Commission Chairman
A. Third 1. AK. Chanda
B. Fifth 2. Mahaveer Tyagi
C. Sixth 3. K. Brahmananda Reddy
D. Seventh 4. ].M. Shelat

B
1 2
1
2

S
N

C
3
3
4
2

= Qg

3 4
e. Answer not known
QumTpSHIH
PP E W HEMEUAIT
A. cpeBTeug 1. AK. ghar
B. mpsmeugl 2. wareiT Hwrd
C. aprag) 3. K. dywrenpbst Qg
D. greugi 4. ].M. Qgeuns

A B C
a. 1 2 3
b. 2 1 3
C. 1 2 4
d 2
e.

=W g

. 3 4
alenL  Ogfluialsvensv

140.  Which of the following is/are Fiscal instruments?

I. Taxation I1. Public Expenditure III. Public Debt

IV. Bank Rate V. Repo Rate

a. LIV b. I, II, III c. I, II only d. All of these e. Answer not known
LeTeu(hHeuaTeUBmIeT 6Tenel [B&dbahalsem@Ld?

[. aufl elgdsze0 II. QuTsIFCQFeva II. QurgibeL 6

IV. amad aldsid V. QpuGur eldsb

a. LI,V b. L II, III c. L IT i (b d. 8mear SmarHaId e. alewL O fuwialsvensn
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141.

142.

143.

144.

Which of the following is/are objectives of Fiscal Policy?

I. Price Stability II. Exchange stability

III. Equitable distribution IV. Capital formation

a. [, II b. III, IV c. I II, III d. All the above e. Answer not known
LesTeu(meuaieuBmIe elener BHE0HmeTensullent Gbmosnhiber?

[. allemev MlewevdHeiTenio II. prewi wIBEIeTs FLomHmen

III. gwiwmer udliTey IV. apeompen o (heurdsid

a. [, II b. III, IV c. I 11, III d. @mal SiEmeaIHSEID e. alowL GaMuwelsdemnsv

Arrange the following in chronological order

L. Vishveshwarya’s book Planned Economy of India

II. Gandhian Plan

III.  Bombay Plan

IV.  Sarvodaya Plan

V. People’s Plan

a.LILIIL IV, V b. I, 11 II, V, IV c. LI V,II, IV

d.LV,IIIII, IV e. Answer not known

Lelreu(meuaieuBens  smeveuflenaiLB SIS

L. allevBeusroguimeles Planned Economy of India ygssd

II. SMhFHW FHIL LD

I1I. ubuTwl gL LD

IV. &iGaurgwr &b

V. D&HH6T S LD

a.LIL IIL IV, V b. L LI, V, IV c. IV, ILIV
d. LV, I, 1II, IV e. allewL Oz fuwelsvensv

Choose the correctly matched pairs

L. Long term Planning - Strategic Planning

I1. Medium term Planning - Tactical Planning

II.  Short term Planning - Operational Planning

a. L1l b.1, III c. II, III d. All the above e. Answer not known
gflwnen Senewnrdenen GHiTd

L. HeTLBHTev HIL L LD - alwssdh HULIOL 6D

II. BBSHHTHBT60 HlL L LD - FHHAHTOTET S L LOL 6D

I11. GUBIFW HTeL FI LD - Gwedum’ B FHL LI 60

a. I II b. I, III c. II, III d. @ma1 imeaiHaEIbD e. alemL G flwalsenso

Which of the following is/are the functions of NITI Aayog?

L. Cooperative and competitive federalism

I1. Vision and scenario planning

III.  Internal consultancy

IV.  Monitoring and allocating funds to plans

a. L1l b. III, IV c. I 11, III d. All of these e. Answer not known
Lelteu(meuateuBmIe eTemed [Hg LBuITddlen Liewnflesenm@Lb?

I gL (bpey wpmid CuTlly SuglinenLuieomer dnl Lm &

II. CzTmeuCETeHE LBEBID ST HLLLOL 60

OI. o a1 G SCeoTFemer 6ULHIGH60

IV. SlLmsmen seauidmenishdhed BHID B @HibhEH6e0

a. [, II b. III, IV c. I 11, III d. @ma imeaiHSEID e. alowL OaMuielsdemev

33 | Page PH: 044 - 24339436, 42867555, 9840226187




145.

146.

147.

148.

149.

Which of the following is/are objectives of monetary policy?

I. Stability of Exchange Rates II. Price Stability

III. Full employment IV. Economic growth

a. [, II b. III, IV c. I II, III d. All of these e. Answer not known
uetd0smeTensulle ChToHsmISHeNToeT 6lenel?

[ ufleutdmmer aldHsHH0 BlanevddHerento II. alemevenut MemeolILIBHHHIFH60

L. (e GeuensveumuiliL IV. Qummennary euenitgd]

a. [, II b. III, IV c. I 11, III d. @mal SiEmeaIHSEID e. alowL GaMuwelsdemnsv

Which of the following is/are selective method of credit control?

I. Bank Rate Policy II. Rationing of Credit

I1II. Publicity IV. Regulation of Consumer’s Credit

a. [, II b. II, III, IV c. LI, IV d. All of these e. Answer not known
LTedTeu(hHeuaTeUBmIeT 6Tenel &L 6T Heilenod &L BLLTLH (WenBeelT?

I s aldaps Osmeens II. sLe1 LMISH

1. elembugiiLBSHSHIH60 IV. mstGeun sLewer GBHBILLGSHSHISH0

a. I II b. 11, III, IV c. LI, IV d. 8meu Simashgid €. el GOFflwalsdenev

Arrange the following in chronological order

L. Banking Regulation Act

I1. The Payment and Settlement Systems Act
III. ~ Banking Ombudsman Scheme

IV.  Foreign Exchange Management Act

a. [ 1L, I, IV b. IV, 1L, I, I1I c. I, IV, II
d. LI II, IV e. Answer not known
Lelteu(meuaiaiBens SrevalflenaliLBsHas

L. URIS  QIDBIGHPMBF FL L LD

II. CFaHFHIH0 WLBBILD SHTeysF &FLUL LD

I11. QUMRIF GHMBSTLILITL HL LD

IV. soppu Ggeureusni Geomemieniod &L L LD
a. L I, II1, IV b. IV, 11, I, I1I c. 1L IV, II
d. L I, 11, IV e. alenL  Gafuweaisvensy

Choose the correctly matched pairs

L. First steel industry - Kulti

II. First large-scale plant TISCO - Jamshedpur

III. ~ Vishveshvaraya iron and steel company - Bhadravathi

a. [ II b. 1, III c. 11, III d. All of these e. Answer not known
gflwnen Benewnidemen BHiTd

I (PHeL 6. & OCBHTHBFTMEL — G60I9

II. waeo Guflw senalsorenr gemev TISCO — mmbGeagl LT
I1I. alerdBauerdauuiwim @B OBBID 61.°.F W60 — USHITaIH)
a. [ II b. I, III c. II, III d. @mar SimeaTHSEID e. alowL GaMuwelsdemev

Choose the correct statements

L. 14 banks with deposits above 50 crores were nationalised on 19 July 1969
IL. 6 banks with deposits above 3200 crores were nationalised on 19 April 1980
a. I only b. I only c. Both I'and II

d. None of these e. Answer not known
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150.

151.

152.

153.

gflwrer gnppisemen CxiTs

L. 50 Gamgsg Gwsd  GLurdl  GFulsn 14 eumdldeT 1969  oremev 19 Seiml
Gz luowomé LT L 6ot

II. 200 Gamgsg Gwed OLutdl. OQFuils 6 emdssT 1980  glged 19 Sleml
Gz luowomé sl L 6ot

a.l w’@Gw b. II w’ (G c. ] wppw II

d. gaflevensv e. alenL Gafwealsvemnso

Choose the correct statements
L. Kisan credit card scheme was launched in 1998 by RBI and NABARD

II. Agricultural Produce Market Committee is a constitutional body

III. ~ The Prime Minister’s Crop Insurance Scheme was launched on 18 February 2016

a. [, IlIb. I, II c. II, III d. All the above e. Answer not known

gilwmenr gmppisenen CxiTe

L. aleugmuisel  sLel SIlenl HLLb 1998 oub  oewip  RBI  oBmid  pumiLmed
CaxmimialsbaliL L gl

II. Gouenmewt 2 _MLIGHPH DIMBMY GLD @(H DFFeLOLI] © BIILTGLD

I11. Urso whdfullear vulitdsmini' G S igeuf 18, 2016 Siagm CamBpielssil LS

a., IlIb. I, II c. II, III d. @mer SiemeaTHSHID e. alowL OFNwealsoenev

Which of the following is/are part of the Electoral College of the President of India?
1. MPs of both Houses of Parliament

2. MLAs of the states of Delhi and Puducherry

3. Nominated members of Rajya Sabha and Lok Sabha

a. 1 only b.1 and 2 only c.2and 3 only
d.1,2and 3

Leireumouseumnsled 61dh @bHUW GUITsHdH Hewevauflenr CHTHed @Gupellsd @ LGHWTEGD?
1. BILTEHLOAIBSHSHT QM DieneubHaien 61LD.L.baHe

2. QLevel B@ID LSHFCHFT OTHEVRIBTEI 6TLD.6T60.6]. 6N

3. grgwisum wmBmid Geurdsaumelsr Bluloenm 2 mirneTaei

a. 1 w’ B6w b.1 wBmib 2 w HEW c.2 wipid 3w Héw
d. 1, 2 oBmip 3 e. alewL Gafuialsvemnsv

Choose the incorrect statements with reference to the Conditions of the Governor's office.

1. The office of governor of a state is an employment under the Central government.

2. The emoluments and allowances of the Governor shall not be diminished during his
term of office.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

OEBHBT DVINIVBHHET HILIHHMEB6T CGHTLTUTET HeUBTeN FnBBIBeneN CHTHOHHHBHALD.

l. @ LIHEVHH6T LEHBT DIEVIIGVHLD TSI HHW DTFT S 2 616 DIsVIUEVHLD.

2. el 2mFHuIkiseT WBEBID LIQHeT DieUTdH LiHabETe0HH60 &HMBEHELILL HInl_TH]

a. 1 wBEew b. 2 w BG6w c. 1 wBmpid 2 @yewiid

d. @remB Bsvensv e. alowL GaMuialsvemev

Choose the correct statements regarding the Election Commission of India (ECI)

1. The Election Commissioners enjoy the same status as available to the Chief Justice of
the High Court.

2. The Chief Election Commissioner can be removed from office only through
impeachment by Parliament.

3. The decisions of the ECI can be challenged only in the the Supreme Court of India by
appropriate petitions.

a.1land 2 only b. 2 only c.2 and 3 only
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154.

155.

156.

d.1,2and 3 e. Answer not known

@,rf,ﬁtu Cxitmpev epemewiwid (ECl) Gamiiumen gflwner gnBupibamen Gaoie] GFUILIaD
HMEVMID 2 _WITHHIDSIB  BHUSHSESH Devewrwimedl DBH  DbHervemd Hmevewld  BFHTEH6e0
UENEILIT  SiILISN S TBTT

2. UMITEBHOIBSHSHET  cpsold LB  Hemevenlo  CHTHL ewmewiwieny UHeN HHHD  GFuiw
(pigujib

3. @b BHTHed  wemibHen  (pgeysmen  HGHwmen  ysnfleiuyg  @bHu 2 FF
BAHOIBHSHTL WL BO — elgFTyensnid@ 2 L LUBGHS  (PIQUD

a. 1 wBmb 2 G b. 2 wBGw C. 2 wBmI 3 W @b

d. 1, 2 wBmb 3 e. alewL GaMuwalsvemev

Choose the correct statements regarding Pardoning Power Governor

1. The pardoning power of the Governor extends to the sentence of any person convicted
of any offence against State law only.

2. The Governor cannot pardon against the death sentence and sentence of a Court
Martial.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

rHev U EHHI6T WeeldGD AHSMID GBHH Flwmer FBuisensn CaHiTd

1. IHev FLLID peOlD HewTgdhSUULL  6lhdH @ BLUBSGID DTN QIPBRIGLD DS STILD
AEBHHEEG 2606

2. LOJ6WI SHEWIL6MEN LOBWID RITEmIN BHAHIOMIBHHIN HWILWSE 6IHITH LEHBT D66 & GHLD
SFHBMHMSH LWLBHS (PQUITSHI.

a. 1 wGGw b. 2 o BGw Cc. 1 wBmd 2 @ArewiBLd

d. @remB Bsvensev e. alewL Gafwalsdensy

Which of the following are part of the principles of the Rule of Law?

1. Supremacy of Law

2. Equality before law and equal protection of Law

3. Primacy of individual’s rights

4. Due procedure of law

a.1,2and 3 only b. 2,3 and 4 only c.1,3 and 4 only

d. 1,2 and 4 only e. Answer not known

Ledreueuseumnsled 61dh1 FLL SHHleir <l Fuledr e LGSHWTGD?

1. FlLsFHer Boeorgdsid

2. FLLGHT (el FIOD OBBID FLU L HEH6H FIO LITSHIGBTLIL

3. pelpufler o fenwsendd (Wpeiiaiflenio

4. FlLGHe Fflwimen HemL (Lpens

a. 1, 2 wpmd 3 w' G0 b. 2, 3 wBmID 4 W HEW c. 1, 3 wmmd 4 1’ HGW
d. 1, 2 B 4 w GG e. el Gxfuiaisdenso

Radius and height of a right circular cone and that of a right circular cylinder are
respectively, equal. If the volume of the cylinder is 120 cm3, then the volume of the cone is

equal to
a. 1200 cm3 b. 360 cm3 c. 90 cm3
d. 40 cm3 e. Answer not know

@m GpJoulLds gniby ppid  CpJaulL o (pemenuleT SuIpD 2w  (WedsGuw  Fob
o memenulelr den oene] 120 GF.15° eTaNed, DL H6T |66
a. 1200 cm3 b. 360 cm3 c. 90 cm3

d. 40 cm3 e. alewL  Oafwalsbensv
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157.

158.

159.

160.

161.

Two taps can fill a tank in 45 minutes and 60 minutes. Another tap can empty it in 30
minutes. If the tank is empty and all the 3 taps are kept open in how much time the tank
will be filled

a. 3 Hrs b. 4 Hrs c. 6 Hrs

d. 12 Hrs e. Answer not know

B0 GWTUSeT @ T odw HeldhdHalGu  wWepGw 45 mLD wB@Ib 60 [ FESeaTed
Broyspg.  oBepTm  GwTul 30 HULsHeo CeuelCuBpidpg. 0Tl &STedwnsd  EHBHEGLD
Gumgl 3 GTUISEHD HBHSH(HHSTEO QBT Ig BIFbL eleilealene] GCBHILOTEGLD?

a. 3 wewil GEyd b. 4 wewil GryLD . 6 wewh GHyLD

d. 12 wewi GryLd e. alenL  GaMuwialsvemev

How many triangles are there in the following figure?

a. 12 b. 13 c.14 d. 15 e. Answer not know
Leieubld LILSHD 1HHemann (WHoHGHTemImIS6T 2 6iT6men ?

a. 12 b. 13 . 1% d. 15 e. alewL  Oafwaisbensv

A and B can do a piece of work in 12 days, B and C in 15 days, C and A in 20 days. In how
many days will they finish it together?

a. 5 days b. 6 days c. 10 days

d. 12 days e. Answer not know

AB 8meaumd @b Gauemevenws 12 mrisefled Gguig apgrur. B,C 96 Geuemsvenus 15
Bl seied OGauwig wiluj. C, A 98 Gaumevenws 20 HTL &6afed OFUILH  (LPIQLILIT.  LHAIHLD
Gabhal SIeIGmevenUL 6THHME BT H6IMeL QFUISHI (LPIQLILIT?

a. 5 [l el b. 6 B e c. 10 BT Selt

d. 12 pr e e. alewL Gafuwealsvemnso

The probability that it will rain tomorrow is 0.91. What is the probability that it will not
rain tomorrow?
a. 0.09 b. 1.09 c.0.90

d.1.90 e. Answer not known

BTemenw!  edlp  OumPelBaTer, Hawsse 091 ealed weww CUTHWTLEd SHUILSBSTET
BBDHHE| 6T6d160?

a. 0.09 b.1.09 c.0.90

d.1.90 e. alenL  GaMuwaisvemen

Which of the following statements regarding Anti-defection law are correct?

a. Anti- defection law is not practiced anywhere else in the world except in India.

b. A nominated legislator can join a political party anytime without attracting the
defection.

c. The decision of a presiding officer regarding defection can not be challenged in the
court.

d. All are incorrect.

e. Answer not known
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162.

163.

164.

&l HH Hreusy HMLF FLLID QHTLTUTe LlsieI(HD Fnmmiberisv e1ghl Filuimend)?

a. @paHwremeud Helly 2 eudled Goumpl MG &L .FH HToued HWLF FLLID [HewL (pewmulled
©)606m6V.

QR Huwwer FULIAM o mlilerm 6bhsd GhrHHen gfusd s Fulsv GFyeumid.

ugHel ellevdsd GHTLTUTET FUTHTWSMET (WIgenal BHAHBIBHBHTEY DBISLUIR] GFUILl (LPIQUITS].
SIMDSHDHID  HEUBTEIEN6).

allenL  Oxflweaievensv

o an o

Choose the correct statements regarding special powers of Rajya Sabha, consider the

following statements:

1. Power to transfer a subject from the State List to Union List for a specified period.

2. To create additional All India Services.

3. To endorse Emergency for a limited period when the Lok Sabha remains dissolved.

a. 3 only b.1and 2 only c.2and 3 only

d.1,2and 3 e. Answer not known

gregwisumelledl FBUL DFHeBMymiseT OHmLiTumer Fllwmenr FnBpidemend CsHiTe| CFuiwaD

1. wrHev Ulpuwellsd SMmbH 61hFH @ SHIMBEDWIUD DHHW ULIQWsHE GUIULILL  HTeuHhalev
LOTBB DAHSTID 266Nl

2. &BFHO F0 QBHW UellGHensn 2 [HeUTh@GHID DIHSTTLD

3. EHENNE HMEVSBLILILL HTVHH DeusF] Blemevenw! GUIULILL STe0HHBE DMISHHEH60

a. 3 w BG6w b. 1 wBmb 2 w GGwW C. 2 By 3 w G6w

d. 1, 2 wBgw 3 e. alewL Oxfwaledenso

Which of the following are mentioned under 8th Schedule as well as Classical Languages of
India?

1. Kannada 2. Malayalam 3. Odia

4. Sanskrit 5. Marathi 6. Santhali

a.1,2,3,4and 5 only b.2,3,5and 6 only c.1,2,3and 4 only

d.1,2,3,4, 5and 6 e. Answer not known
Leireumeusiieummled 61 LTeudl i Leusveiuled GUUILL Oorfseflsd QFbOWTY HHFH euTulihsH
QomPlesiT eTemeu?

1. SHeieoL LD 2. LDEMGULLITEITLD 3. e

4. FLOEOSHSLD 5. JTHH 6. FhHHTell

a. 1, 2, 3, 4 wBmib 5 wi_HGwW b. 2, 3, 5 wBmDd 6 WL HEW
c. 1, 2, 3 wmmio 4 1wl HGw d. 1, 2, 3, 4, 5 oBmib 6
e. alewL G flwailsenso

This rule allows judges to add or ignore any of the words in the statute while interpreting
in order to protect the purpose of creating that law and give fair and equal justice to
everyone. Which of the following doctrines resemble this?

a. Doctrine of purposive construction b. Doctrine of Colourable legislation

c. Doctrine of Eclipse d. Doctrine of Basic Structure

e. Answer not known

RECHT_LTG @ FLLSHDS 2 HUTHGHMSHN GHTHEHmBL LTHISTULSHBETHD, N6 ([HEELD
BUWTWIDTET  LOBMILD  FLOWTET  HEHenUl  aIRIGASBHTHAD, olendsoefldel Curgl, &L &Halev
2 6ol 6lhdh  QIMTHMBBMENMUID bALSHH6T CFThd evevdl LUpsheanless Sbs el
SDIOHEBBSH. el CHTuThaeled 615 BendH @RHHHHIHBSH!?

a. Gpresd &l [Bomed Gsm Lm@ b. suewismiiowionen &1L HHeir Gabm Lim@H

C. dysemibdHlen Gsmump d. ogiiuen s Leniornienr Gsm Lmh

e. alenL Oz flwalsvemnso
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165.  Choose the correct statements regarding Judicial Activism

1. The concept came up in the United Kingdom.

2. It was introduced in India in the 1970s by Justice P N Bhagwati.
a.1only b. 2 only c. Both1and 2
d. Neither 1 nor 2 e. Answer not known

bHHHIMB CFwev(pemene] UBBIW FmBuiseisy eig &l

1.
2.

Bhs H05H BEBOTHSH BHbHH CUBLLLLS!.
Qs @bsHwraled 1970&6fls0 BAHLF Li.6T6T.LISUSWTEL DPSPSUIUGHSLILLL .

Ueiteumo oifldbendseriley e1gh Fflwimeng)?

a.

d.

1w @6w b. 2 wBGw c. 1 wBmId 2 G@rewiBLD
@yemiBD  B60eM6V e. alewL Ggflwalsvenso

166.  Which of the following statements is not correct?

a.

b.

C.

d.

e.

Article 324 of the Constitution entails the provisions related to the chief election
commissioner and other election commissioners.

The Constitution has not specified the term of the members of the Election Commission.
Election commissioners receive salaries and allowances similar to those of a judge of the
Supreme Court.

Chief Election Commissioner holds his office at the pleasure of the president.

Answer not known

Leiieupd SnBmiseied 61 FHlumeigh 0607

a.

b.

Srfweoenoliien  324euk  Lfle]  Hewevswd  CHTHeL  emewilT @M LB CHiTHev
SLEMETLITHET QHTLTLTEN 6l FHHem6N 2 6iT6NL Sl

CarTmHev ememibSHen 2 miidenisefen UHNBHTOD GBPSHH DFFwevenolF  FLLID
GBIULILeflsensv.

CHTHL YMMUITHEDHSHEG 2 FF BHWWAIB BHUHHG HSHITEN FIOLOTD OBMID  FeNSHH6IT
BemL @I

Glwrgd Henevalfler allHLUUSHBEBML HMeLMIDS CHTHL UEMETUWIT LGHe 61&HS BT,
alenL  OFfluiaisoenev

167.  Choose the correct statement regarding Reservation

1. In Indira Sawhney vs Union of India (1992), the Supreme Court had upheld the 50-
percent ceiling on reservations.

2. There is no reservation for OBCs in Lakshadweep, Tripura, Meghalaya, Mizoram and
Arunachal Pradesh.

3. There are no separate political reservations for OBCs in State legislatures or local
bodies.

a.1only b. 2 and 3 only c.1and 2 only

d.1,2and 3 e. Answer not known

QL H5s0 GNSHH Flwrer FBpisemen BHiTs

1.

2.

3.

QbHyT Freual vs @bHw el (1992) aupddled, 2 FF BHAHWRIBLD SLeHibsBH LBHTe
50 F56isH 2 _FFaubenl 2 _mIF CFUiHHI.

ool gHHe], sHifliygr, Guwasreowr, WEsTyD wBEBID DiHeWTFFL LIFEHFHHL @LUIFUIHEHE
QL HHHBH R60M6V.

OMH6L  FL_L LDGIIMBHIG6T svevdl 2 _sitenml_ & siemwliyseies OBC send@ el oiduisd @
RHIHBH  B60EM6V.

a. 1w’ GGw b. 2 wBmd 3w HGW c. 1 wpmo 2 w’ HEw
d.

1, 2 wBmId 3 e. alewL Ggflwalsvenso

168.  Which of the statements regarding the Inter-State Council is not correct?

a.

b.

39 | Page

Union Home Minister is the Chairman of the council.
Council’s decisions on inter-state disputes are binding in nature.
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169.

170.

171.

c. The Council may meet at least thrice a year wherein all questions are decided by
consensus.

d. Bothaandb

e. Answer not known

LOMH 6VMIGB EThB S ML BGuiimen  Heeiidled QHTLTUTE D bendHered o1& Heuml?

a. HFlede HMEVUTTH LSHH U 2 6ITHINM DHFFT 266N,

b. wrHevmisEhHE L UNevTen HBTHBIH6T 60 &6|601 6Vl 68T (LPIY&Y 6T HENQLILITS
LerLmmriLL Gelewt (BLd

C. FHaiFled YPWIBHG cPIBl (DB  Fnl6VTD, DIHL DimeiHH CoealBHEnd@GD Q@HISHS
BMHBHBHIL6T alendbsld DieMbHULBLD

d. awpmw b

e. alowL Gafweiledenso

Choose the incorrect statements:

1. Formation of a new State requires a special majority in the parliament.

2. A Dbill calling for the formation of new States may be introduced in Lok Sabha only.
3. The bill is introduced only on the recommendation of the President.

a.land?2 b. 2 only c. 3 only

d. None of the above e. Answer not known

SHeUDBTeN FnBmIHenen CHiTH

l. yHw IHevDd SMLUSBE BTLTEHLOGIBSHSH0 FBLILL GU@GLLT6TemD GHeme.

2. yHw omHevmissT DemwlLgBaTen WwEFTHT wHEenemaluisd ol GO SMlpsLLBSHSLILIL 60TLD.
3. ®wrssH SHemevaufler LfpbgHienyulen Guflsogren wWEFTHT DM (WHLILGSHSLILIL Govet(HLd

a. 1 wBmib 2 b. 2 wr BGw C. 3 10 B6w

d. GuBev ergiOND RevEN6V e. alewL Gafuwalebenso

Which of the following are features of the Electoral Bonds Scheme?

1. The State Bank of India (SBI) and Reserve bank of India have been authorised to issue
and encash Electoral Bonds.

2. Electoral Bonds will be issued in multiples of Rs 1,000, Rs 10,000, Rs 100,000 and Rs 1
crore.

3. Electoral Bonds shall be valid for fifteen calendar days from the date of issue.

4. The electoral bonds will not bear the name of the donor.

a.1,2and 3 only b. 1,2 and 4 only c. All of these

d. 2,3 and 4 only e. Answer not known

LereumeusmeuBiled CHTHe0 LSBT HI L SHH6 SIDSFRISH6T WiTene?

1. umrs o6l ewkid (SBl) wmmid @pHw MNate eumid duienen CHTHe0 LHITHIBM6TT
CeueMuiBousBEGLD LIWIOTSGHMSBEGHWD MBS bBSLILIL (HeiTeren.

2. @5.1,000, ¢5.10,000, 5.100,000 wmpId .1 Gsmg eler Liev DL HBIGH6eL BHTHEL LGHITHISH6IT
GUIPRIGLILIBLD..

3. BaTHed uSHHhiseT GeuefulL (i’ L Brefedmbas UHmenbdH BT HEHHEG 6FOVILIQUITELD.
4. BHTHL LSHHTHIG6T HeiTGBTEmL WiTeTlen GLIWIeDTdH BTN HBBHTHI.

a. 1, 2 wspd 3w’ H6w b. 1, 2 wBpid 4 w’ HEw C. GuBamPlul DiMETSHHID
d. 2, 3 wBy 4 w_GGW e. alenL Gafwealsvemnso

Choose the correct statements regarding the Indian Polity

1. Adjournment motion is introduced in both the houses of the Parliament.
2. Adjournment motion needs the support of 50 members to be admitted.
3. A no-confidence motion can be moved only in Lok Sabha.

a. All of these b. 2 only c.1and 3 only

d. 2 and 3 only e. Answer not known
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172.

173.

174.

175.

@bHw sFMWLY GBHH Flwmer smBpisemen CsHiTs

1. BILTEHLSIBSHHN R Diwaudbeilsvld HHenallil] sSTomerd ASWSUILGSHSILGSBSEI.
2. @dFHmalliy SHromend gnmiscstsiten 50 2 miinfarnmseflsr ousHyey CHemel.

3. waésenenaluisy L BHOWL BIOLIGEmBUTeve0T HTOTEID CBETERIH 6Uf (LPIQULD.

a. Qenel DMENHHID b. 2 o ®Gw c. 1 wBm 3 wGHE6wW

d. 2 wBmid 3 wGEw e. alenL Gafwealsdenso

Choose the correct statements:

1. Article 323A empowers the Parliament to provide for the establishment of
administrative Tribunals with respect to conditions of service of persons appointed to
public services.

2. The provision for Tribunals was added by the 44th Constitutional Amendment Act.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

gflwrenr FnBmiHenen CHiTH

1. el 323A oyegl, Gurgiiuenfuisd o eitem  BUTHeT BCFemel HMVBEHHHTEH  HiToUTH
STUILTWSHMNS 2 ([HoUTHE BILTEHLOSIBHHBE DAHSTIL06THHBSH

2. @b olgl 44-0uz SFwevsnolil FLL HHHSD pevld QRenemrbSLILL L S
a. 1 wGGw b. 2 o GGw C. 1 wBmd 2 @rewiBLd
d. @yemB Bsvensev e. alewL Gafuwaledenso

Choose the incorrect statements regarding the Deputy Speaker

1. The Deputy Speaker is subordinate to the Speaker.

2. He has a special privilege of becoming the Chairman of any Parliamentary Committee
to which he is a member.

3. He has voting rights at first instance unlike the Speaker.

a.1only b.1and 3 only c. All of these

d. 2 and 3 only e. Answer not known

Hlwew FUTHTWST SNBSS HUMTen FnBmibenen CHiTs

1. Hlewewl FUMBTWST FUTHTWLSHSGHS S SUImiGLeNT

2. oeuT o muiemre 2 efen  shHObUTH UTITEHLEMBE GHUWaIBGLD SHmeveuJT@Gl  FABLyF
FVNE AHEG 2 60I(H.

3. FuThTWSMIL CUTEVELEVTIDED DUHSE (PHeVIeL TG fleno 2 6wi(®.

a. 1 w’GEw b. 1 wBmp 3 w HGW Cc. GumamPlu SemaTHHID

d. 2 wBpd 3 wHGW e. alewL Gafuealsvemsv

Choose the correct statements regarding Zonal Councils

1. The idea of creation of Zonal Councils was mooted by the Prime Minister Indira
Gandhi.

2. The Prime Minister is the Chairman of each of these Councils.

3. Itlooks after the matter concerning border disputes also.

a.1land 2 only b. 2 only c. 3 only

d.1,2and 3 e. Answer not known

LOEWIL 6V G (PHHB6IT GNIHH Fhlwmen FmBpisemer CaHiTa

1. LDGWIL 6V GH(PHHMEN 2 HauTd@G Cuirgenen LIFsHT @bATT STHAWTEL 2 HeuTdSLILL L FHI.
2. Obd FUNFVH6T QNCITHIBISGHD HWeVeUT LITHLOT L 6uMT

3. elevemeull LIgFFemeaider GGTLTUTE efleuibHmBUld EdH Hale b B,

a. 1 wspib 2 w HEwW b. 2 w BGw Cc. 3 wl_B6w

d. 1, 2 By 3 e. alewL Gafuwalsdenso

Choose the correct statements:
1. The term ‘secular’ was added to the Preamble in the 44th Constitutional Amendment.
2. The freedom of religion is guaranteed to aliens also.

41 | Page PH: 044 - 24339436, 42867555, 9840226187




176.

177.

178.

179.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known
gflwrer FnBpiBenen CHiTw
I. 44 eug sSpfwevenolildh HHBHHHHeL  IDSHFFTTUBB 61 GFTed  (PpSBLILENTUT6eD

CaFrbslILL L&l
2. 1DFH FHHATD SO BT LAIHBGSID cIPHBISLILBHBSI.
a.1 wl@B6w b. 2 w BG6w C. 1 oBupib 2 @yewiBid
d. @yemB Bsvemsev e. alewL Gafuwalsdenso

Choose the incorrect statements

1. The Collegium System is prescribed in the constitution.

2. It consists of the Chief Justice of India with two senior most judges.

3. National Judicial Appointment Commision Act, 2014 was brought to replace commision.
a.1land 2 only b. 2 and 3 only c.1and 3 only

d.1,2and 3 e. Answer not known

SHeUDTeN FnBmIHenen CHiTH

1. Osmeddwid Semioliy SFFluieosnolitled GMILLTLLul Beieng).

2. @5 QW6 wis BHLHBEHL BHHUS Smemio EHLBDWLD Gtz

3. @b sagmib@l uHeors Cxrdlw  BAUH®ET  Buiwer SpememiF  FULID, 2014 6

OmmestBeUTLILIL_L .
a.1 wBmb 2 w’ GOwW b. 2 wmmib 3w GGwW c. 1 wspo 3 w BHGW
d. 1, 2 wBmp 3 e. alewL Gafuwaledenso

Which of the following states are covered under the Sixth Schedule of the Constitution?

1. Assam 2. Meghalaya 3. Tripura 4. Nagaland
a.1and 2 only b. 2,3 and 4 only c. All of these

d.1,2and 3 only e. Answer not known

LeiteumD 61h& LOTHI6VMIBET DFFIUIG0IOLILTET UBTOIH DL suenswiulledl &S 2 6iTeren ?

1. oMb 2. Gsmeowim 3. &iflygm 4. BISTLTHSHI

a. 1 wnmpb 2 w GEW b. 2, 3 wmmd 4 w GGOW Cc. GumamPlu SemaTHHID

d. 1, 2 wBmd 3 wL.ECL e el Gzfueaisdemed

Choose the correct statements regarding the 103rd Constitutional Amendment Act:

1. Itinserted Article 15 (6) and Article 16 (6) in the Constitution.

2. Itisregarding the provision of reservation in education and government jobs in India.

3. It granted constitutional status to the National Commission for Backward Classes
(NCBC).

a.1only b.1and 2 only c.1and 3 only

d. All of these e. Answer not known

10361 Srfwsveniolildh HmHHF FLLID GHBHd Fhlwmen Fammissnen BxHirs

1. @& sydwevsnioliisv 15 (6) wmmip Lifle) 16 (6) pFHwiBHB SDenewiHHHl.

2. @pHwrelsd seval LBHID oFF Coenevdeled SR HIHEH UPBIGSH CHTLTLITEISI.

3. @3 UBuGsHsiu’ L agllamestar  Bafl  ymemwsHnBEg (NCBC)  oiduisventoli
SIbHENVNSH  ULDHBIB LI

a. 1w GGw b. 1 wBmb 2 w GGwW c. 1 wpmb 3 w’ HGW

d. CumsEmpPu SmassHd e el GOafuaisdemsd

Choose the correct statements:

1. National Institute of Disaster Management (NIDM) has nodal responsibilities for
human resource development and capacity building in the field of disaster
management.

2. National Disaster Management Authority (NDMA) can have up to 3 members
including Chairperson.
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180.

181.

182.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

gflwrer FnBpiBenen CHiTw

1. BGxfw GuflLt Guweomemieno BHmieued (NIDM) wefigeaisn  Gour®  wBmid  GuilLir
Gsvremiening  Hiempuied  FHmerr  CouT@h  PSweuBBIBETET  (PHBHWI  QUITBILIL|BHEM6TEH
Qs ment(HeIT6 .

2. Bxpflw GufiLit Guweuremieny memiubHsd (NDMA) seweveut o L 3 2 miifermse
UM B ([HEHSHEVITLD.

a. 1 w_H6w b.2 w B6w C. 1 1oBpib 2 @yewiBid

d. @reuiG Bsvenev e. alowL GaMuwealsvemev

Choose the correct statements regarding Central Vigilance Commission:

1. It has its origin in the Special Police Establishment set up in 1941.

2. The Commission was given statutory status by an enactment of the CVC Act, 2003.

3. The Commission consists of a Central Vigilance Commissioner and not more than ten
Vigilance Commissioners.

a.1only b. 2 only c.2and 3 only

d.1,2and 3 e. Answer not known

wHAHW alflliemrTe] Spewemiuild Gldbsh Fhlwmer gnBpisemen BHiTe

1. oip6 CaHBmL 1941 @60 SimwHSILLL B HTausd BBIITHIHIL 6 CHTLTL CEHTewIL .

2. CVC &L, 2003 @QuBpBlusHe  dpeold  SemeibHBE  FLLfHumer  SibHervg
GUIPMRIGLILIL L Gl

3. @3 @®  elifilyemie) LMD TH  OBTwI(BelleNgd  LOBBID  DFHSLLFID 10
SLEDEINLITHEMEMUID O\ T 60T (B6TToNT )

a. 1 w B6w b. 2 w BGw c. 2 wpmib 3 wGHGW

d. 1, 2 Bmp 3 e. alew Oz flwailsdensv

The seat of an MLA can be declared vacant if he/she remains absent for how many
continuous days without the permission of the House?
a. 30 days b. 60 days c. 90 days

d. 180 days e. Answer not known

QM 6I1D.6160.6]., FLLFUUNGT AMIOHUTINI, 6TSHHMe BT H6T QHTLTHEH H6vbHH CHTeTemTLOe
Q®mBHTL, dUFH USHel HTellTarsTed DipfleldaliuL 60mD?

a. 30 BT &6 b. 60 ®BIL_H6it C. 90 BT &6l

d. 180 mm el e. alewL Gafuwealsvemnsv

Choose the correct statements.

1. Attorney General for India is appointed by the President from among persons who are
“qualified to be appointed a Judge of the Supreme Court”

2. The Attorney-General of India shall have the right to take part in the proceedings of
Rajya Sabha only.

a.1 Only b. 2 Only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

Fflwmenr Fammisenen BHiTsm

QbHWTOIBHTE  HMLEMID  QIPHBMBIEHT  GQUWTHS  HMEVAITTeL  BHUIOGSILGLIT — E6IiT
"D FFHASB HHUSWTE BUOlds HEHHUEDLWISIT

2. @bhAWTelsT HMEVENID  QIPHBBEHHBG JTRWFUT  HLAIQHMBH6NM60 L BOW  LUkGHB®
o _flemp 2_ewi(H.

1 1l (Bib b. 2 wl @G C. 1 woBmib 2 GyesiBid

@yeni(BD  B60eM6V e. alewL Ggflualsvenso

[S—,

o
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183.

184.

185.

186.

Choose the correct statements regarding Central Bureau of Investigation (CBI),

1. It is a statutory body established under the Special Police Establishment (Amendment)
Act.

2. It is the nodal agency in India which coordinates investigation on behalf of Interpol
Member countries.

3. CBI can suo motto take investigation only of offences in the Union Territories.

a.1land 2 only b. 2 and 3 only c.1and 3 only

d.1,2and 3 e. Answer not known

&HSH W Lsvsumuiall Usnilwsld (Flie) @il LsalmalsialBennd  &ealeulu|hibsiT

. @s sy Gumelerd evsmTU (HHBHHID) FULLSHH &S Hoeulu' L @  FLLULLTe
SIMLOLILITEGHLD

2. @3 G iBursd o miiy prhHseflen FrTuTs oNFTrenemieNUl @HREIS MBS  RHIHWTeilsd
2 66N 2 55 SeOOLL| SUGLD.

3. weiwer r8samseiled BLEGD @GBmRsmen WL GO Flxm  HeelFmaswuns algrias
(plQuLD.

a.1 iy 2 1w GGW b. 2 wmmib 3w GGwW c. 1 wmpid 3 w H6w

d. 1, 2 wBmp 3 e. alewL Gafuwalsdenso

Choose the correct statements regarding Directorate of Enforcement (ED),

1. The ED enforces the Foreign Exchange Management Act, 1999 (FEMA) which is a
criminal law.

2. The ED works under the control of the Ministry of Home Affairs.

a.1only b. 2 only c. Both 1 and 2

d. Neither 1 nor 2 e. Answer not known

Slweorss Quis@GpIsd (ED) @gfiss sflwmer sBpisensn GHiTs

1. ED oppw  Qseoreuenil  Guevrewieno g, 1999 (FEMA) ug @bpeiuwsd &L s
SI6OLIBHHIBBSHI.

2. ED 2 ciigionp SiewwFsFssHHlen sl BUUTL T S GFuwisdLBaBs)

a. 1 w’ BG6w b. 2 wi BGw Cc. 1 wBmib 2 @rewiBLd

d. @yemB Gsvemsev e. alewL Gafuiealsvemsv

Choose the correct statements regarding Medical Termination of Pregnancy (MTP) Act

2021:

1. It increases the gestational limit for legal abortion from 20 to 24 weeks of all the
categories of women without requiring the medical advice of doctor.

2. The Act decriminalises the action of “intentionally causing a miscarriage”.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

wHSSING SHBHmevl] (MTP) siLib 2021 e¥isHs sflwurea snBpismer Csis

wmbHafler  wmHH  PCeorFmenulsinll  DimeiibHH  auewd  Oueideflen  FLUL LT

BHHBHBMEVLILIBHTEN  HTLILIST60 uFDenL 20 (LpHe0 24 euTImIS6T U] DUHHMHS B!

2. @bs FLLID "CauammiBoaiCn smFFmebmel gBUBHHID” CFLMED GBBLOBBSTEGHSBSHI.

a. 1 w’B6w b. 2 i BGw C. 1 woBmib 2 GyesiBid

d. @yemB Bsvensv e. alewL GaMuwealsdemev

[S—,

Choose the correct statements regarding the composition of NITI Aayog:
1. The Prime Minister of India is the Chairperson of the Council.
2. The Governing Council of the NITI Aayog consists of the Cabinet ministers and

secretaries.
3. The Chief Executive Officer is appointed by the Governing Council.
a.1only b. 2 and 3 only c.1and 3 only
d.1,2and 3 e. Answer not known
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187.

188.

189.

190.

NITT 8wirsadesr semwliy GBisHH Flwmer gmBpibenen GHiTw

1. @bsHwl rsoT B HCUTST Hemeve.

2. NITI m8wnésadsi Biteuts Gapeled CoHLle DEWIDFFTH6T OBBID QFUIOTENTHET 2 6IT6NT60IT.
3. HmevemlD HiTeurd DFHeTh BiTeurs @peursd BUWLOGSUILIBSBTT.

a. 1 wBEew b. 2 wmmib 3 w HGW c. 1 wimib 3 wi GHGw

d. 1, 2 By 3 e. alewL Gafuwalsdenso

Choose the correct statements regarding Panchayat Extension to Scheduled Areas Act:

1. It extends the provisions of Part IX of the Constitution to the tribal areas.

2. All the states with concerned tribal communities have notified and implemented PESA.

3. The Forest Right Act does not apply in the areas covered under PESA.

a.1and 2 only b. 2 only c.1and 3 only

d.1,2and 3 e. Answer not known

S Louenem LUGHHBEHSG LehdFTwHSH BLigl] FLLD @Bl Fhlwrer snppismen 6xHiTe

1. @& spdwevenwliier [X uggdulsr eldsemen LwphiGuie LGSHBEhHE olflaubBhHaHPBEHI.

2. FOUBSILULL LIDRIGY FAPEHIGmeNd QBT Smaihdl wrBevmisend PESA #l1L Hmsp
SNl SHEH CFwIsOLIHE I U siT6rT6

3. PESA @61 &1p 2 6iten U@dHseflsy euenr 2 femnd FU LD GQUTHHSTSHI.
a. 1 wip 2w GHGW b. 2 w BGw c. 1 By 3 w G6w
d. 1, 2 wBgw 3 e. alewL OxpMwaledenso

Choose the correct statements regarding the office of Chief Minister (CM):

1. A person who is not a member of the state legislature can be appointed as CM for six
months.

2. The Chief Minister and other Ministers hold office during the pleasure of the Governor.

3. The Governor allocates portfolios to the ministers on the advice of the Chief Minister.

a.1and 2 only b. 2 and 3 only c.1and 3 only

d.1, 2 and 3 only e. Answer not known

wHevemnFsT (CM) sisveevsld GBles Fllwmer Fpuisamen CHiTs

1.  FlLwaIB 2 pIlleamms G6060TSH QHeUD] UM LOTHBIBEHEE (PHEVITTH HUILSSSHEVTLD.

2. (PFHEOSHIDFF[HLD LOBB DIMDFFTHEDHD S 6HHI6T Bl 2 6fTeeuen] USR] 6Ud S 6m6nT.

3. (wpFHeoemw&afler o CeoTFemeanuieiily DHFFTHEHHEH UEHBT HIMBBHMET QHIHEGHIHMTT.

a. 1 wsmib 2 GG b. 2 wBmib 3 w HGW c. 1 wBmib 3 wiHEw

d. 1, 2 wBmd 3 wLECL e alwmL Gafueailsdemed

Choose the correct statements regarding the Fundamental Duties

1. They are incorporated during the beginning of the constitution.

2. The Fundamental Duties are non-justiciable.

3. Fundamental duties help the Court in determining the constitutionality of the law.
a.1land 2 only b. 2 only c.2and 3 only

d.1,2and 3 e. Answer not known

Sl & HLWIDH6T GHBHH Fllwmen Fmmmisenet CHiTs

1. sdflwevenioli] 2 maurssluBl GuTp6s DbHsH UGS DmemsbEULLIQHHSHHI

2. SIgliuemLd HLDWHT B LOSIMBHSHTEL SLLTW UBGHD (P

3. opflweveniolid  SHeMMW  STOTENLUHD  DQlILeDL S  HLEDIDSHET  HAHLSIBHIHBES
2 56)|B6MB60.

a. 1 wsmib 2 GO b.2 wl B6w c. 2 wimib 3w HGw

d. 1, 2 wBygw 3 e. alenL Gafwealsdemso

Which of the following are the important features of a federal system?
1. Multiple levels of government 2. Division of Power
3. Written Constitution 4. Independent Judiciary
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191.

192.

193.

a.1and 2 only b. 2 and 3 only c.1,2 and 4 only

d.1,2,3and 4 e. Answer not known

Leireumeuseumsled gnl LT & Sienliien (poH&l SIDFmIGsT Wimeneu?

1. UL &L SIFFTHIGLD 2. siFsmi Lifey

3. eIpSUILLL  SIFFlulevsnLoliL 4. HHHATOTET b HBHIMMB

a. 1 wpmb 2 w HGW b. 2 wBmib 3w GGwW c. 1, 2 wompd 4 w BGOw
d. 1, 2, 3 wBm 4 e. alewL Gafuwalsdenso

Choose the correct statements regarding the Universal Declaration of Human Rights

(UDHR)

1. It was proclaimed by the United Nations General Assembly in Paris in 1948.

2. It was the first legal document to set out the fundamental human rights to be
universally protected.

3. It has been translated into over 500 languages.

a.1and 2 only b. 2 and 3 only c.1and 3 only

d.1,2and 3 e. Answer not known

welldh o Memwsendstar 2 esammalwl LysLaibmnsd (UDHR) smesHed Gsmewi®  sfluimen

FnBUIBHmeN CHTH

1. @5 1948 @ev umflenfiled MBI BHTHHeMET GUTHIF FeUWTED DSONGSILLL FHI.

2. 2 eusmenalled LTHISTHSUUL  Couswigwl Siglilenl  elldh 2 Memosemen alGHHhsd (WPHO FLL
YEUHID BFHIUTGLD.

3. @& 50060 GuBul L Gmfssisd GLomPOLWITSSLILL BeiTenSI.

a. 1 wip 2w GHGW b. 2 wim 3w GGW c. 1 wpmd 3 w G6w
d. 1, 2 wBgw 3 e. alewL GaMwaleenso

The jurisprudence of bail in post-independent India, is anchored on the bedrock of which
of the following articles of the Constitution?

a. Article 15 b. Article 21 c. Article 28

d. Article 36 e. Answer not known

FHHHTHABELI LD AbPHwireled omLSest QULDBIGH G SBBTEN FUL &8s ur®
SiFFlweventoliLfledr Llsiieu@D 61hdH eFHUlelr DlYHHenHHe0 CHTE&HHBULL (BeiTerng?

a. of® 15 b. elg 21 c. old 28

d. eg 36 e. alewL Gafuwealsvemnso

Choose the correct statements regarding the Vice President of India

1. The Vice-President of India is elected by an electoral college consisting of members of
Rajya Sabha only.

2. The Election Commission of India conducts the election to the office of the Vice-
President.

3. All doubts and disputes arising in connection with the election of the Vice-President are
enquired by the Supreme Court of India.

a. All of these b. 2 only c.land 3

d. 2 and 3 only e. Answer not known

QbHWH Hwewd GQUITHSH HWevalT GMlddH Fhlwmer FnBmpisenen BHiTe

1. @bHw Fimewid GHQUTHSH HMEVAIT JTRWFUT o milnlaTosensnd Comemil  CHiTHed
GWWHHTEL CHTHOSHBHHSUILBH M.

2. @bHw CHTHeL Sewemild Hiewewl MeITHULH LSHeNbsTen CHTHMED BL HHIBMBSHI.

3. Zwemids  GLUWISKH  HmevalT  BHTHEL QHTLILTE 6P DweidHH  FHEHBmIHEHLD
FTFNFHEDHD QAU 2 _FF BHAHLOMBHIHTEL SHiTbaHLILIH S Imen.

a. GumampPlul SemarsHId b, 2wl B6w c. 1 By 3

d.2 wBg 3w GHGW e. alewL GaMuwialedemev
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194.

195.

196.

197.

Choose the correct statements regarding the Parliamentary Committees

1. Each Departmentally Related Standing Committee comprises 45 members, 30
nominated from Lok Sabha and 15 from the Rajya Sabha.

2. The estimates committee has 30 members, all from the Lok Sabha.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

BILTEHLONM &(1pHH6T GBlds gflwmer FaBpismen CHiTs

1. @a0emm HOB  FIThdH HewevbGHwalaib 45 2o minileiseT 2 eiTenelT, WHHeTeNeUUTED
AAmbsl 30 Guir wBmId FrgwsFuTelsd Smbal 15 GuT 2 mIeITE6TTES 2666,

2. AU (BGE Guwealsd 30 2 mInlanTasT o 66T, DU HHeTMEUMUIF CFTHIHeUTH6T.

a. 1 w@6w b. 2 wBGw c. 1 wBmId 2 G@rewiBLD

d. @y Bsvensv e. alewL GaMuwealsvemev

Choose the correct statements regarding the National Flag of India:

1. It was adopted in its present form during India's independence from the British on 15
August 1947.

2. The Chakra on the white band of the flag is depicted as the "wheel of the law" in the
Sarnath Lion Capital made by the 3rd-century BC Mauryan Emperor Ashoka.

a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

@bFHwmeler CHFws Camy @Ml Fhlwrear sBpismen GHis

. ool 15, 1947 Q60 UL yegrfiLblmbs DPbHwT &SHHTD CUBBCUTH iHe SBEUT
MmBHW algaSHHe0 BFHI gBmISHCBTTEMILILL .

2. & 3 oo miBpren® Gwerflwl Cuprst oICsTaT o meauTddSlw FTIHTeH Fmis  HITewis0
QmbH BH Camguier Geusitenanll UL L UNED 2 6o FHBID ~FLLSHH6N FHBIWD~ 66iImI
I BMIGBTEITETILIL L &)

a. 1 w’BG6w b. 2 i BCw C. 1 oBmib 2 GyesiBid

d. @yem@BLoevenev e. alowL GaMuialevemev

If 12 men and 16 boys can do a piece of work in 5 days; 13 men and 24 boys can do it in 4
days, then the ratio of the daily work done by a man to that of a boy is :

a.2:1 b.3:1 c.3:2

d.5:4 e. Answer not know

12 ouewidel B@ID 16 Fpleuiser @ Geouemsvenws 5 mHIL&efled 13 SiewiseT BBID 24
fplauTase ieIGaemevent 4 BT SETNID (LIQHBIBIT 6660, et WLBBID Fpieueiet gera
Gouemev FHmei1 AIBBHHMBHDH HTewID

a. 2 : 1 b. 3 :1 c.3:2

d 5 :4 e. alenL  GaMuwalsvemev

In a certain code, BRAIN is written as *%-+#x and TIER is written as $#+%. How is RENT
written in that code?

a. %x#$ b. %#x$ c. %+x$

d. +x%$ e. Answer not know

om G L giuf' G OwmPulsv BRAIN eaeiuemg *%-+#x eaeaipgid TIER aeauens  $#+%
GT&TILD  61(H6VMD 61afle0, SIbHS GBUILG Gompuied RENT sereiiueng ereieumml 61(lp&He0mbd?

a. %x#%$ b. %#x$ c. %+x$

d. +x%$ e. alewL QFfwaisiensv
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198.

199.

200.

Find the missing number.

fﬁ‘ O
1 1
> P
5
a. 40 b. 60 c. 64 d.74 e. Answer not known
Al(BLL L 6To0TeN6eNTSH  SHT6IIS.
125
i O
1 1
> &
a. 40 b. 60 c. 64 d. 74 e. alewL Gapfwalsdenso

A and B together can do a piece of work in 8 days, but A alone can do it 12 days. How
many days would B alone take to do the same work?

a. 16 days b. 18 days c. 20 days

d. 24 days e. Answer not known

@0 Goumevenws A, B @meumd Caibal 8 mHIL&eMed (wilif. A B SieiGaemevenul 12
BrL&efle0 (wlimy. B wl G oieuGaumeveni s Hemen BT H6fe0 (Lplgliiy?

a. 16 B seir b. 18 ®mm el C. 20 BT el

d. 24 pr e e. alewL OFMwailsdensv

Circumference of a circle is always

a. three times of its diameter

b. more than three times of its diameter

c. less than three times of its diameter

d. three times of its radius

e. Answer not known

AL HH&T FMBmeney eleiiligh 6T IGLTHID

OIH&T Al LGHemd Gumed cpeiipl LOL MG,

SIHET AL GHFHeT cLpeiil L Mmend il DIFHHLD
DIFHE AL SHHT cLpeiil oL Hiend el & &Hmmey
SIS SHMBL GUITed (PGB LOL MG

allewL  OFflwealedensv

ocanoe
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